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Question Number : 1 Question Id : 7532297282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the letter-cluster from among the given options that can replace the question mark (?) in the following series.

AA, AAB, AABB, AABBC, ?
Options :

1. * ABCABC

2. % AABCBC

3. % AABBCC

4. % ABABCC

Question Number : 1 Question Id : 7532297282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faU 7T fdemedl O 4 I 31eR-Hg &1 99 HIfoT, Sl Y §@dl T gydrEe g (2) & RIH UR 31T

AA, AAB, AABB, AABBC, ?
Options :

1. ¥ ABCABC

2. % AABCBC

3. ¥ AABBCC

4. % ABABCC

Question Number : 2 Question Id : 7532297283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the letter-cluster from among the given options that can replace the question mark (?) in the following series.

HLN, KOQ, NRT, QUW, ?
Options :
1. % SYZ
2. ¥ TXZ
3. % TYZ
4. % SXZ

Question Number : 2 Question Id : 7532297283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faU T fdsmedl O 9 I 31eR-Hg &1 99 HIToE, Sl Y §@dl T Uydrae g (2) & RIH WR 31U |

HLN, KOQ, NRT, QUW, ?
Options :
1. # SYZ
2. ¥ TXZ
3. % TYZ



4. = SXZ

Question Number : 3 Question Id : 7532297284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third alphanumeric-cluster in the same way as the second alphanumeric-cluster is related to the first
alphanumeric-cluster.

PN7: WU35 :: QF6: ?
Options :

1. % YN30

2. % XP25

3. ¥ XM30

4. % YP25

Question Number : 3 Question Id : 7532297284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I o ed o7 70 3 o AR 3HeRifhd-Tg I d8! YaY § o GO 3H&Rifbd-Tqg &1 Ugd 3ierifhd-Tgg A 7|

PN7 : WU35:: QF6: ?
Options :

1. #* YN30

2. % XP25

3. % XM30

4. % YP25

Question Number : 4 Question Id : 7532297285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the letter-cluster that does NOT belong to the following series.

BDR, FGT, JKV, NMX, RPZ



Options :
1. * FGT
2. ¥ JKV
3. ®* NMX
4. % RPZ

Question Number : 4 Question Id : 7532297285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 3eR-THE P! UgdH Hx ol (Fifdbd ae I Yaifdd el g

BDR, FGT, JKV, NMX, RPZ
Options :

1. ® FGT

2. % JKV

3. % NMX

4. % RPZ

Question Number : 5 Question Id : 7532297286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the letter-cluster that does NOT belong to the following series.

NCK, QFN, TIQ, WLS, ZOW
Options :

1. ® QFN

2. % TIQ

3. ¥ WLS

4. % ZOW

Question Number : 5 Question Id : 7532297286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



39 3HER-Tg B UgdM B Sl (Hifohd Y@l ¥ Jaiferd gl g

NCK, QFN, TIQ, WLS, ZOW
Options :

1. * QFN

2. % TIQ

3. ¥ WLS

4. % ZOW

Question Number : 6 Question Id : 7532297287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct option that indicates the arrangement of the given words in the order in which they appear in an English dictionary.

1. Acetylene

2. Acetone

3. Acknowledge
4. Acetate

5. Achievement
Options :

1. % 3,2,5,1,4
2.% 4,1,2,3,5
3.v4,21,5,3
4. % 4,2,1,3,5

Question Number : 6 Question Id : 7532297287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 et fahed o1 Ig B Sl U 7T 2ec] 1 98! ShHG=Ir Ueiid ®3dl ¢ o a8 9 3ol Tssh I § 3i1d ¢

1. Acetylene

2. Acctone

3. Acknowledge
4. Acetate

5. Achievement



Options :

1. % 3,2,5,1,4
2.%4,1,2,3,5
3.9°4,2,1,5,3
4. % 4,2,1,3,5

Question Number : 7 Question Id : 7532297288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third word in the same way as the second word is related to the first word.

Mount Everest : Mountain :: Burj Khalifa : ?
Options :

1. # Dubai

2. # Saudi Arabia

3. % Building

4. % Tallest

Question Number : 7 Question Id : 7532297288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAdH e T 99 B o1 I Xeq A 981 Wael § S g Xeq T Ugdl oG W ¢ |

13T TaXE : U4d :: ol Tl : 2
Options :

1. % g%

2. % &4l 3RS

3. ¥ QHRd

4. % Y St

Question Number : 8 Question Id : 7532297289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the words share the same relationship as that shared by the given pair of words.

Notebook : Pen

Options :

1. # Sharpener : Eraser
2. # Book : Eraser

3. % Blackboard : Chalk
4. ¥ Whiteboard : Duster

Question Number : 8 Question Id : 7532297289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [qohed &1 99 B o IH Wegi & St dg] UaY § S Wea| & (Hifhd I & Uea] & sid gl
leqge® : U

Options :
1. % IR : VR
2. % QD - SN

A N of
3. ¢ XIhdlS : AP
4. % PPl : TR

Question Number : 9 Question Id : 7532297290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.

DKP : GNT :: NSL : ?
Options :
1. ¥ PVQ
2. % QUQ
3. ¥ QVP
4. % PUP



Question Number : 9 Question Id : 7532297290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faoed &1 99 . ot TR 31eR-Tg § 98! YaY § Sl GO 3eR-T1g &1 Ugd 3HeR-T9g 9 5|

DKP : GNT :: NS L:?
Options :
1. * PVQ
2. % QUQ
3. QVP
4. % PUP

Question Number : 10 Question Id : 7532297291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.

GNA:JQB::TVL:?
Options :

1. ® YXZ

2. % WXN

3. ¥ WYM

4. = ZXY

Question Number : 10 Question Id : 7532297291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [aored &1 99 B ST TR 31eR-T1g & 98] YaY § Sl GuR 3eR-T1g &1 Ugd 3HeR-T9g 9 5|

GNA :JQB:: TVL:?
Options :
1. ® YXZ



2. % WXN
3. ¥ WYM
4, % 7XY

Question Number : 11 Question Id : 7532297292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the pair of letter-clusters share the same relationship as that shared by the given pair of letter-clusters.

KDG : PIL
Options :

1. % GVS:LZX
2. % NCP: SHV
3. % LGM: QLS
4. ¥ CNK : HSP

Question Number : 11 Question Id : 7532297292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fadred &1 99 B o aw 31eR-Tg! & oa ae! Yae § SN 3eR-Tgg! & Fgiford I & Ysal & i |

KDG : PIL
Options :

1. % GVS:LZX
2. % NCP: SHV
3. % LGMX : QLS
4. % CNK : HSP

Question Number : 12 Question Id : 7532297293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the letter-cluster triad does NOT share the same relationship as that shared by the given letter-cluster triad.



(ASD, BVI, CYN)
Options :

1. # (CMB, DPG, ESL)
2. ¥ (MKF, NMK, OQP)
3. ¥ (GMH, HPM, ISR)
4. % (KSN, LVS, MYX)

Question Number : 12 Question Id : 7532297293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 Aot &1 997 B o 31eR-THg BAd & ol 98 Uy 7181 ¢ Sl (Hiferd 3eR-9g fd & 9 8|

(ASD, BVI, CYN)
Options :

1. % (CMB, DPG, ESL)
2. ¥ (MKF, NMK, OQP)
3. ¥ (GMH, HPM, ISR)
4. % (KSN, LVS, MYX)

Question Number : 13 Question Id : 7532297294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the letter-cluster triad share the same relationship as that shared by the given letter-cluster triad.

(BLN, HHP, NDR)
Options :

1. # (MOQ, SKT, YGU)
2. % (PZR, VWP, ZSN)
3. ¥ (JKD, PGF, VCH)
4. % (RDN, LHP, FLR)

Question Number : 13 Question Id : 7532297294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

39 faored &1 99 B o H 31eR-Tig B o o9 98! day § o FHiford sieR-Tvg % & a9 3|

(BLN, HHP, NDR)
Options :

1. # (MOQ, SKT, YGU)
2. % (PZR, VWP, ZSN)
3. ¥ (JKD, PGF, VCH)
4. % (RDN, LHP, FLR)

Question Number : 14 Question Id : 7532297295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, 'RAT" is coded as 6 and 'LION' is coded as 8. How will'MONKEY" be coded in that language?
Options :

1. % 10

2.9 12

3.% 14

4. % 16

Question Number : 14 Question Id : 7532297295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fd T TN H, RAT &1 6 % ©U H 3R 'LION' B 8 % T H Hedg [T offdl g | ST U H 'MONKEY' &I 5l Heag [l
SITI?

Options :

1. %10

2.¥ 12

3.% 14

4. % 16

Question Number : 15 Question Id : 7532297296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In a certain code,
(3 % o Cqq b 1A?
how are you’ is coded as ‘tic ric mic’,
‘you love fruits’ is coded as ‘ric wic din’

b
‘are fruits healthy’ is coded as ‘tic jig wic’.

What is the possible code for ‘healthy fruits’?
Options :

1. # tic jig

2. % wic tic

3. ¥ jig wic

4. % jig din

Question Number : 15 Question Id : 7532297296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U A3 He T g,

‘how are you’ P 'tic ric mic' b g H Pcdx fopar ST %,
'you love fruit' P! 'ric wic din' B BT H PCdx fopar ST %,
‘are fruits health' @1 'tic jig wic' & ¥U H Hcdg [T SITdT g |

‘healthy fruits’ & %IQ Tyifad Dc ﬁaﬁr@a i @ Eﬁ:[ g1 %?

Options :

1. *= ticjig
2. * wic tic
3. ¥ jig wic
4. * jigdin

Question Number : 16 Question Id : 7532297297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code,
‘how are you’ is coded as ‘tic ric mic’,



‘you love fruits’ is coded as ‘ric wic din’,
‘are fruits healthy’ is coded as ‘tic jig wic’.

What is the code for ‘you’?
Options :

1. # tic

2. ¥ ric

3. % mic

4. % wic

Question Number : 16 Question Id : 7532297297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U A3 He T g,

‘how are you’ P 'tic ric mic' b g H Pidx fopar ST %,
'you love fruit' P 'ric wic din' B BT H PCdx fopar ST %,
'are fruits health' @1 'tic jig wic' & =g H Pcdx [CRIIGI % I

‘you’ %%Qﬁg%@ﬂﬁﬁﬁqu%?
Options :

1. * tic

2. ¥ ric

3. ® mic

4. % wic

Question Number : 17 Question Id : 7532297298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six friends H, I, J, K, L and M are sitting around a circular table facing towards the centre. K is sitting second to the right of L and to the
immediate left of M. J is sitting to the immediate right of L and third to the left of H.
Who is sitting second to the left of J?

Options :
1. % K



2. M
3. H
4.9 1

Question Number : 17 Question Id : 7532297298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * K

2. % M

3.% H

4. 91

Question Number : 18 Question Id : 7532297299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are five girls P, Q, R, S and T, each of a different age. Only three girls are older than S. P is younger than S. Q is older than R, but younger
than T.

Who is the oldest among the five girls?
Options :

1.¥T

2.%Q

3. % R

4. % S

Question Number : 18 Question Id : 7532297299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui @SBl P, Q, R, S 3R T H T UAH DI TG -3 g | Had i Asibai ST TSI 81 P, ST BT 81 Q, R U TS g, Al T A BIA




gl

U dsfhdl 7 g 981 P 82
Options :

LT

2. % Q

3. % R

4. % 3

Question Number : 19 Question Id : 7532297300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M is the son of N and L. G is the daughter of P, who is the only sister of M. L is the mother of K.
How is N related to G?

Options :

1. % Paternal grandfather
2. ¥ Maternal grandfather
3. % Paternal uncle

4. % Maternal uncle

Question Number : 19 Question Id : 7532297300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NIRLBIFEAMEIG, PP, Sl fe M Bl IPha §g1 81 L, KB A §
N &1 G I 7T Hee 52

Options :

1. # alal

2.9 Al

3. % Ml

4. % HH

Question Number : 20 Question Id : 7532297301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Books of five different subjects — Hindi, Science, Mathematics, English and German — are arranged one over the other in the following
manner. Only two books are kept between the Hindi and Mathematics books. Only the Science book is kept between the Hindi and German
books. The English book is kept just below the Hindi book. The book of which subject is kept at the second position from the top?

Options :

1. ¥ German
2. % Science
3. #* Hindi

4. * Mathematics

Question Number : 20 Question Id : 7532297301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ure faftrs fasa - &, faqm, for, SRielt oik wife &1 qae! ) U & IR U g aiier 3§ < a1 § 18 &R 1Y o) goaan! & &t
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TG T B 1SR J g RH R Ffeied # ¥ ford fawg & g & w1 mar g2

Options :
1. ¥ S
2. % fagm
3. % fgdt
4. % IO

General Ability2
Group Number : 2
Group Id : 753229376
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

General Ability2

Section Id : 753229376
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229453
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532297302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:
All beds are tables.
Some tables are chairs.

Conclusions:
I. All chairs are tables.
II. Some tables are beds.

Options :

1. # Only conclusions I follows.

2. % Only conclusion II follows.

3. # Both conclusions I and II follow.

4. % None of the conclusion follow.



Question Number : 21 Question Id : 7532297302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T HYHT SR el B eaFyde e | HUA! A € T8 TSGR 1 9 A 8T, 918 98 IHH %0 ¥ J1d 92t ¥ 3RTd Uedid gt 8,
feffea o3 fob fqw e fs et & @ S Q1A HYl &1 difihes 0 I 3ER0 BRI/ ¢ |

HY:

gt foeeR, O B

P Ao, RIS

e

1. 9 R, A 7

II. $3 O, R B

Options :

1. % Had (sHY [ 3IERU HRAT ¢ |
2. ¢ Had HY 11 TR TR |
3. % fIsHY [ SR 11 HI SFERUI A g |
4. % DY (ISPY TR TS BRAT R |

Question Number : 22 Question Id : 7532297303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:
All birds are pigeons.
All pigeons are animals.

Conclusions:
I. All pigeons are birds.
II. Some animals are birds.

Options :

1. * Only conclusion I follows.



2. % Only conclusion II follows.
3. #* Both conclusions I and II follow.

4. % None of the conclusion follow.

Question Number : 22 Question Id : 7532297303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T 7T H 3R FISh Sl &1 &Ydd UG | B 8 &l T8 SMBRI &I I A gU, 18 98 W &0 3 1A 9201 I 3RATd Udlid gt &,
feffea o3 fop fau e frse ol & @ S T/ HYl &1 difhe =0 I 38R0 HA1/H & |

DHY:
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Tt R, TR B

fsmy

L g peeR, Teh B

1. $B IR, T B

Options :

1. ® $Had [T5HY [ 3RV HaT g |

2. ¢ Had (5HY 11 SR HAT 5 |

3. % T 1 3R 11 G SFTERT v G|
4. % PIg (TSHY IR0 ] dRAT ¢ |

Question Number : 23 Question Id : 7532297304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A statement is given, followed by two courses of action numbered I and II. Decide which of the given courses of action logically follow(s) from
the statement.

Statement:
A large number of children die every year due to malnutrition.

Courses of action:



I. The government should punish the parents who do not provide nutritious food to their children.
II. The government should identify malnourished children and provide nutritious food through Anganwadi centres.

Options :

1. % Only I follows.

2. % Only II follows.

3. % Both I and II follow.

4. # Neither I nor II follows.

Question Number : 23 Question Id : 7532297304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Y {1 mar 3, fordds ugrd 1 81R 11 ¥ shHifdbd <l priarfeal & 718 & | g & fos 1 priargl/eridiaal fidT 1T & &1
b U I IR0 HdT & / B gl

DHY:
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WT%’CIT:

I. TRBR B 37 AT1-dT B ST AT AT SN 30 F=di B! Uides Yo Ua g dRd g |

1. TRPR B, UG I ! Fafed o, SITFaTst Hal & A1ead I N HivH Iuas o1 AUl
Options :

1. % Had [ 3R TRl g

2. ¢ &I 11 TRV HRAT G|

3. % [ 3R 1 G SFERUI R 6 |

4. % Q1SRG II SR IRl G|

Question Number : 24 Question Id : 7532297305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number from among the given options that can replace the question mark (?) in the following series.

47,49, 53,59,?
Options :



1. * 63
2. % 65
3. ¥ 67
4. % 69

Question Number : 24 Question Id : 7532297305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T fdsmedl O T I TRSAT BT Ig BT, S (% SRl & Uearad g (7) o R TR ST |

47,49, 53, 59,7
Options :

1. % 63

2. % 65

3.¥ 67

4. % 69

Question Number : 25 Question Id : 7532297306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code, if 'x' means 'addition’, '+' means 'multiplication’, '—' means 'division', and '+' means 'subtraction', then find the value of the
following expression.

102x49+72—-12+4=7
Options :

1. % 78

2. % 96

3. % 105

4. 127

Question Number : 25 Question Id : 7532297306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T FIEd e yron &, afe < &1 31 anr, = &7 31 o, - BT 31 URT 3R '+ BT 31 e &, @l FufeiRd il &1 71 I1d He |

102 x49+72—-12+4=?
Options :

1. % 78

2. % 96

3. % 105

4. 127

Question Number : 26 Question Id : 7532297307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four number-triads have been given, out of which three are alike in some manner and one is different. Select the number-triad that is different.
Options :

1. % (6,9, 54)

2. % (12,7, 84)

3. % (15, 6,90)

4.4 (9,4,38)

Question Number : 26 Question Id : 7532297307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR B B feu U €, f5H I i bt UpR @ T gwe € 3R Ush I SR 8 1 I 3Rd TaT b b1 Ia- Sifoid |
Options :

1. % (6,9, 54)

2. % (12,7, 84)

3. % (15, 6,90)

4.9 (9,4, 38)

Question Number : 27 Question Id : 7532297308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



63 chocolates were distributed among P, Q and R in the ratio of 2 : 3 : 4. R got how many more chocolates than P?
Options :

1. % 7

2.%9

3.% 12

4. ¥ 14

Question Number : 27 Question Id : 7532297308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q 3R R & &d 63 A DI 2 : 3 : 4 % U H dfeT T R DI P ¥ foat Aidbare 3ifere e
Options :

1. %7

2.%9

3. % 12

4.9 14

Question Number : 28 Question Id : 7532297309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man starts from his home and walks 15 metres towards the east, and then turns to his left and walks straight for 5 metres. He again turns to his
left and walks straight for 10 metres, and then turns towards his right and starts walking straight. In which direction is he walking now?

Options :
1. # South
2. % East
3. % North
4. % West

Question Number : 28 Question Id : 7532297309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U% fad 3 370 BRI Ia-1 IR fordm iR gd &1 3R 15 Hiex =a, 3R fhr ag 3o a12 iR 43T 3R Tt 5 tfiex = a8 fh oot



TS R G313 3R WY 10 Hiex ga, R 30t 18 3R T 3R WY Ia1 Y= a1 31q 98 fovw fomn d g @1 82
Options :

1. % gigor

2. % 74

3. ¥ 3R

4. % Uigg

Question Number : 29 Question Id : 7532297310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the Venn diagram that best represents the relationship between the following.

India. Jharkhand, Ranchi

Options :
1.¢
- R
{ '~.|
O\ /
.—\_\\""——o—"-.f
2. # O



LS

€ 9]

Question Number : 29 Question Id : 7532297310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Y 99 2RE & 9949 &3 ol FEfiad & a9 Y&y & 9arad ¢ g Refud sar el

HRd, SIRWS,

Options :
1. ¢
" il
{
U\ /
=
R



Question Number : 30 Question Id : 7532297311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the Venn diagram that best represents the relationship between the following.

Bird. Parrot and Cow
Options :



LS

€ 9]

Question Number : 30 Question Id : 7532297311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Y 99 2RE & 9949 &3 ol FEfiad & a9 Y&y & 9arad ¢ g Refud sar el
gelt, diar 3R g

Options :

1. #®



of

N

Question Number : 31 Question Id : 7532297312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given question figure is obtained on rotating which option figure?

A @ O

N & A
m O A

Options :

v Om

VA I
D @ V




£ @ V

2.¢

A @ O A @ O (vOm
NANO Ml 1O oAl Ve U
A O R

A O m

Question Number : 31 Question Id : 7532297312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



59 fadhea ¥ 1 715 A1 (0 &I GHM W Fgifdd U A1 id W erie

A @ O

N @ A
m O A

Options :

[ <J <«

1. ®

v Om
Ve l e O
@ vV K a ik

2.¥




3. %

A @ O (A @ O
&
=

Question Number : 32 Question Id : 7532297313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given question figure is obtained after rotating which option figure 135 degrees anticlockwise, then 45 degrees
clockwise?

%*

\®/hO/

Options :







Question Number : 32 Question Id : 7532297313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
by faemea & 21 71 2M1epfa &1 135 3/ THIG, TUT TP ULTd 45 S Sfaunad g9M W Fgifed us efa v
g




Question Number : 33 Question Id : 7532297314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure from among the given options that can replace the question mark (?) in the following series.

‘ -

MR N,

t

Options :



t
X
23

2. % s
7S
3.%«’*
EE
ox ¥

Question Number : 33 Question Id : 7532297314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



s B

'-.

3.¢




44

Question Number : 34 Question Id : 7532297315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three of the following four figures are alike in a certain way and thus form a group. Identify the figure that does NOT
belong to this group.

ou ¥

Options :

1. #
¢
}o e
A
2. ®

3. ¢



Question Number : 34 Question Id : 7532297315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR APl &l 7T 5, foFH 9 dF 69l TR T e M § 3R 58 UbR Uh g &I FH0 ! o | 39 TS
&1 9g BIOTU ol 3H T Y Tefdd 181 g

Options :

2. ®




z
AR »
>
3. ¢
\ I
NP
4, % 0

Question Number : 35 Question Id : 7532297316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select a figure from the options that can replace the question mark (?) in the given figure matrix.

=]
«|s |-
Al=|V

Options :



s
«

Question Number : 35 Question Id : 7532297316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fuTTE fadedl # 9 39 3l &1 9= Sifod off FHaifdbd fox IR H usar® g (7) & ®IH IR

) |=|
«|s |-
Al=|v

Options :
-

.




Question Number : 36 Question Id : 7532297317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure from among the given options that can replace the question mark (?) in the following series.

-

4 |

Options :

.-
*-h




t

Question Number : 36 Question Id : 7532297317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fGu U fasbedl H U 3 3f1hid B 9a- SIS Sl Fuifhd 435a § Ugaes 9% (2) & RIF W A

| K

Options :

-




-

2.9

. e
o

4. %

Question Number : 37 Question Id : 7532297318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many rectangles are there in the given figure?

Options :
1. ®% 10

2. % 11
3w s

4 % 13

Question Number : 37 Question Id : 7532297318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feuw T g &, fpaq emma g

=

L]

Options :



Question Number : 38 Question Id : 7532297319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two different positions of the same dice are shown, the six faces of which have the numbers 3. 4, 5. 6, 7 and 8 on it.
Find the sum of the number 7 and the number on its opposite face.

Options :
1.« 1l

r # 12

Question Number : 38 Question Id : 7532297319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



UHh U &1 of fafts Rufoar uefia 8. s @8 Busi W3, 4. 5. 6. 7 3R 8 3ifbd g1 7 941 39 [Ad Gad
TR 3{fHd TS &1 aRT J1d B |

4]6 | 5|7

Options :
1.« 11

r ® 12

Question Number : 39 Question Id : 7532297320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following question figures. Select the option that would most closely resemble the unfolded form of question figure (ii).




AV
LAY
VA
LAY
Vv
LAY
VOV
VAV

Question Number : 39 Question Id : 7532297320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
[Foifepd Yy eplcdl o, Ueh HRTS &l i HI HH qul HIS U HRTSl &l dIe- Bl aRidh] a1 Tl ¢ | 39 [dhed
&1 T8 B ol WY P o Gal WY (i) P Fai 1 A ghT|

————————————————

0] (ii)

2. ¥




VOV
ARV

VoV
ViV

Question Number : 40 Question Id : 7532297321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct mirror image of the given figure when the mirror is placed at 'AB' as shown.

4

G

Options :



=
o dp

2. %
q E
=
P o
3.¢
> >
=
P
4. %

Question Number : 40 Question Id : 7532297321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

1 gUUT I FFMER AR’ TR W61 11 &1, Al [GU T A &1 Hel guul uiafee Tad &1

{}e'p
« b

Options :

A

O
%5

&2
P
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General Awareness1
Group Number : 3
Group Id : 753229377
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awarenessl
Section Id : 753229377
Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229454
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532297322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ‘Baul’ singers from the Indian state of
Options :

1. ¥ West Bengal

2. % Kerala

3. * Rajasthan

4. * Madhya Pradesh

Question Number : 41 Question Id : 7532297322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AST MIG HRA S Iog J Fafa g
Options :

1. ¢ UfgH &I

2. % B

3. % IR

4. % A Y

Question Number : 42 Question Id : 7532297323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Identify the festival celebrated in Southern Part of India:
Options :

1. # Baisakhi

2. % Lohri

3. % Gangaur

4. ¥ Vishu

Question Number : 42 Question Id : 7532297323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoferiRad 7 9 & 91 AeR, YR & faoft 4rT & A9 S 8
Options :

1. % ST

2. % digel

3. % TUAIR

4. ¢ fag

Question Number : 43 Question Id : 7532297324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which Indian city is the ‘Elephant Festival’ held annually on the day of Holi?
Options :

1. ¥ Jaipur

2. % Mysore

3. # Bhopal

4. % Vadodara

Question Number : 43 Question Id : 7532297324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & Fgfeiad & ¥ ford 2rex # ufdas gt & fa g1t 7eicqar smaiford foran S g2



Options :
1. ¢ SIgUR
2. % IR
3. % T
4. % gelaxT

Question Number : 44 Question Id : 7532297325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ‘Pagoda’ style of architecture is usually associated with temple of
Options :

1. % Sikhs

2. % Jains

3. % Buddhists

4. ¥ Baha'is

Question Number : 44 Question Id : 7532297325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRIH T DI TST et UI: AR § Tl g
Options :

1. % g

2. % O

3.V @

4. % S5

Question Number : 45 Question Id : 7532297326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which Indian actor’s autobiography is titled ‘Anything but Khamosh’?
Options :



1. % Amitabh Bachchan
2. ¥ Shatrughan Sinha
3. % Rishi Kapoor

4. # Dilip Kumar

Question Number : 45 Question Id : 7532297326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR 3 35 ST Bt Serdhd o1 2 T ae @R 32
Options :

1. % SfEATY S

2. ¢ T g1

3. % B DR

4. % fCflu pAR

Question Number : 46 Question Id : 7532297327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following hill stations of Odisha is popularly known as the ‘Kashmir of Odisha’?
Options :

1. # Orasuni

2. % Dumuriput

3. # Taptapani

4. ¥ Daringbadi

Question Number : 46 Question Id : 7532297327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ifsen o1 Fufafad 7 @ o9 91 uddiy =, '3 & HIHR & Ab g 719 I SHT SiidT 82

Options :

1. % 3IRIYGH




2. % gHiige
3. % qUarr!
4. ¢ SIRTSTSt

Question Number : 47 Question Id : 7532297328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which city among the following has ‘summers that are cool and very rainy’?
Options :

1. % Udaipur

2. % Amritsar

3. ¢ Shillong

4. # Indore

Question Number : 47 Question Id : 7532297328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraffad # @ frg wex § ofiey g $et 3R 9gd auigad gidl 872
Options :

1. % 3aUyR

2. % JHHAW

3. ¢ TR

4. % 3ER

Question Number : 48 Question Id : 7532297329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the Indian state that produces more than half of the country’s bauxite resources as on January 2021:
Options :

1. ¥ Odisha

2. % Himachal Pradesh



3. # Karnataka
4. # Gujarat

Question Number : 48 Question Id : 7532297329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SFART 2021 96 & SFER, S H 1Y I HfUF diage W1l o1 IdTad B aTe YR B od FHfafad & 4 &1F a1 g:
Options :

1. ¢ IS

2. % fgOmd ue™

3. % FlcH

4. % TGRId

Question Number : 49 Question Id : 7532297330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which Indian state will you find the ‘Saramati Peak’?
Options :

1. % Chhattisgarh

2. # Himachal Pradesh

3. ¥ Nagaland

4. ¥ Arunachal Pradesh

Question Number : 49 Question Id : 7532297330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd & Fafafed # 3 forg e # aRmwd 9 fyd g2
Options :

1. % BT

2. % fgOMEd U™

3. ¢ TS



4. % 3BUMEA US

Question Number : 50 Question Id : 7532297331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The longest train route in India is from Dibrugarh to
Options :

1. % Kochi

2. ¥ Kanyakumari

3. # Chennai

4. # Thiruvananthapuram

Question Number : 50 Question Id : 7532297331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR $T T dd1 3 AN {$5778 9 e
Options :

1. % i

2. ¢ HAHUR]

3. % Tdg

4. % fqeadqRA

Question Number : 51 Question Id : 7532297332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As on March 2021 which one of the following company is India’s largest telecom operator as per TRAI data?
Options :

1. # Airtel

2. ¥ Reliance Jio

3. % BSNL

4. % Vodafone Idea



Question Number : 51 Question Id : 7532297332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<TS (TRAI) & i S| b SIHR, A 2021 Teb MAIGT H A DIl HUHI HR Bl G TS GIEIR HaTHaT 8?2
Options :

1. ¥ TR

2. ¢ gy o

3. % §1.UY.UA.Td. (BSNL)

4. % TISTHH A3fT

Question Number : 52 Question Id : 7532297333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per The National Statistical Office (NSO) 75th round of National Sample Survey (NSS) - from July 2017 to June 2018 this Indian state has
the highest female literacy:

Options :

1. # Sikkim

2. % Goa

3. ¥ Kerala

4. % Tamil Nadu

Question Number : 52 Question Id : 7532297333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W%;g%ﬁmmweﬁ -NSO) & THAT HA&UT (TH.UH.TH. - NSS) & 750 °eh o 3R - a8 2017 F S 2018 T HRA
7 o J oy 3o | wfgdr AreRdr &

Options :
1. % Rfewy
2. % Al
3. ¢ BRd
4. % TG



Question Number : 53 Question Id : 7532297334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Ganges Water-Sharing Treaty’ was signed between India and
Options :

1. # Nepal

2. % Bhutan

3. ¥ Myanmar

4. ¥ Bangladesh

Question Number : 53 Question Id : 7532297334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRI SR & I T St SedRT Wit iR g&ier U e 3|
Options :

1. % AUTe

2. % Y

3. % WHAR

4. ¢ QAT

Question Number : 54 Question Id : 7532297335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per Niti Aayog’s sustainable development goals (SDG) index 2020-21 this state ranked the best state in India in terms of ‘poverty
eradication’:

Options :

1. # Odisha

2. % Madhya Pradesh
3. % Tamil Nadu

4, % Assam



Question Number : 54 Question Id : 7532297335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hf AT & YR (Fdd) fasra dedl (TH 315N SDG) YAl 2020-21 & AR, Fafeied o 9 ford s o TRidl I3ge & ddy
T YR P FANT 5T BT o 1391 T 8:

Options :

1. % IS
2. % HH YR
3. ¥ g

4. % 34y

Question Number : 55 Question Id : 7532297336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was India’s rank in the UN Human Development Index 20207
Options :

1. % 124

2. % 127

3.9 131

4. % 139

Question Number : 55 Question Id : 7532297336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Y WG AT GIB1h 2020 H HRA BT R FafeRad & 9 o 91 41
Options :

1. % 124

2. % 127

3.9 131

4. % 139



Question Number : 56 Question Id : 7532297337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vijayalaya was the founder of the Empire situated in Southern part of India.
Options :

1. ¥ Chola

2. # Pallava

3. # Chalukya

4. % Pandyan

Question Number : 56 Question Id : 7532297337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faoraTed, HRd & afemft 4 # fRuq T BT GRITTS Y|
Options :

1. ¢ I

2. ® Uceld

3. % AR

4. % gisgH

Question Number : 57 Question Id : 7532297338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the was the following was the governor of Delhi and, subsequently, the first sultan of the Delhi Sultanate?
Options :

1. % Ulugh Khan

2. % Jalal ud-Din Firuz Khalji

3. ¥ Qutb-ud-din Aibak

4. # Shams ud-Din Iltumish

Question Number : 57 Question Id : 7532297338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o, e &1 Isuura T St ddyTd foed Teamd &1 ugdl e -1
Options :

1. % IqTHEl

2. % SaTd Ia-gI it Raereil

3. ¥ $d-3-dH Uah

4. % AYIG-AM Tegia

Question Number : 58 Question Id : 7532297339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following succeeded to the Mughal throne after Shah Jahan?
Options :

1. % Akbar

2. # Jahangir

3. % Aurangzeb

4. ¥ Humayun

Question Number : 58 Question Id : 7532297339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MESTal & U, TITd Tel R Fofafed § 3 o o= gam
Options :

1. % 3PAX

2. % SR

3. ¢ RO

% g

Question Number : 59 Question Id : 7532297340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In which present Indian state is the place ‘Dandi’ located from where Mahatma Gandhi started the Salt Satyagraha?
Options :

1. ¥ Rajasthan

2. ¥ Gujarat

3. # Maharashtra

4. ¥ Punjab

Question Number : 59 Question Id : 7532297340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el ATHE R, ST81 A HeTHT et 3 THh Jamag URYH fHar U1, gda ™ URd & f5g s # fRud 82
Options :

1. # SR

2. ¢ ISRId

3. % HeRIY

4. % U9

Question Number : 60 Question Id : 7532297341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Indian leader was popularly known as “patriot of patriots'?
Options :

1. % Jawaharlal Nehru

2. % Khan Abdul Gaffar Khan

3. ¢ Subhash Chandra Bose

4. % Maulana Abul Kalam Azad

Question Number : 60 Question Id : 7532297341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA & FfaRad 7 ¥ foo g 3d1 &1 SRIHed] & SRIHa & T8 1 ST SITdT U2

Options :



1. % S[dER dld 18
2. % G 3fegd THPR Tl
3. ¢ gUTYES a

4. % T 3G HATH 3TlG
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Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 61 Question Id : 7532297342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

General Awareness2

4
753229378
0

0

No

No

0

20

No

General Awareness2

753229378
1

Online
Mandatory
20

20

20

Yes

1
753229455
Yes



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following neighboring country of India is having constitutional monarchy form of government as on September 2021?
Options :

1. # Myanmar

2. % Sri Lanka

3. % Nepal

4. ¥ Bhutan

Question Number : 61 Question Id : 7532297342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RydeR 2021 T & SUR, HRA & FEfIRed & ¥ ford Tsi 3= # YaenAd oids Wy aTell TRBR 82
Options :

1. % HHAR

2. % gl

3. % 907d

4. % YA

Question Number : 62 Question Id : 7532297343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where among the following was the ‘Azad Hind Fauz’ founded?
Options :

1. ¥ Singapore

2. # Sri Lanka

3. ® Vietnam

4. % Philippines

Question Number : 62 Question Id : 7532297343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3{TSITE fég Wier &t w1 fAgfeiead o @ ol R &t 8
Options :

1. ¢ IR

2. % gidadT

3. % fogaqamw

4. % foaidig

Question Number : 63 Question Id : 7532297344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1951 India signed a Treaty of Peace and Friendship with a neighboring country.
Options :

1. # Bhutan

2. % Nepal

3. % Sri Lanka

4. ¥ Myanmar

Question Number : 63 Question Id : 7532297344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1951 FHRAA A TH USI e & 1y Wifay 3R fisran &) 9fYy oR gxaner |
Options :

1. % Y+

2. % AU

3. % diciepl

4. ¢ TR

Question Number : 64 Question Id : 7532297345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which feature of the Indian constitution refers to the existence of more than one level of government in the country?



Options :

1. # Secularism

2. ¥ Federalism

3. # Separation of Powers
4. # Fundamental Rights

Question Number : 64 Question Id : 7532297345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA & i 1 Fafafed 7 3 3 I fRwd), 32 7 WeR & T § 3ifis TR & $Hfkia 3 Jaftd 82
Options :

1. % yrfRUEd

2. ¢ gYdlq

3. % Qifcl 1 faHTeH

4. % AP SHRABR

Question Number : 65 Question Id : 7532297346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Fundamental Duties of citizens were added to the Constitution by the 42nd Amendment in
Options :

1. *® 1956

2. % 1966

3. ¥ 1976

4. % 1986

Question Number : 65 Question Id : 7532297346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T3 77T 420 T=NeH GRT WiGe™ & AFTRS| & A deiod FiTferd fbg M|

Options :



1. #® 1956
2. #® 1966
3. ¥ 1976
4. %* 1986

Question Number : 66 Question Id : 7532297347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Constitution of India who among the following has all executive power vested in him and all executive actions are taken in his name?
Options :

1. ¥ President

2. # Prime Minister

3. # Chief Justice of India

4. % Chief Election Commissioner of India

Question Number : 66 Question Id : 7532297347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & AU & TR JH SRAGRI faadl Haferad 3 ¥ foad fAfgd gid 8 oIk Tt FRieR $1 I9d 419 9 fht I1d 82

Options :

1. ¢ gufd
2. % Gy
3. % YRd & G- i

4. % URd & T 19 g

Question Number : 67 Question Id : 7532297348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An assembly of elected representatives at the
Options :

1. #® Village

level is known as the Legislative Assembly.



2. * District
3.+ State
4. * National

Question Number : 67 Question Id : 7532297348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R fAafya ufaft ot gy, faus g seard g1
Options :

1. = U¥H

2. % foren

3. ¥ Y

4. % B

Question Number : 68 Question Id : 7532297349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Sessions Judge is the highest judicial authority in a
Options :

1. ¥ District

2. # Nation

3. % State

4. # Panchayat

Question Number : 68 Question Id : 7532297349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e, % gate e WieRt giaT 81
Options :

1. « forem

2. % Q¥



3. % I[Y
4, % UgIOd

Question Number : 69 Question Id : 7532297350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What kind of a Court is the ‘Gram Kachheri’?
Options :

1. ¥ Panchayat Court

2. % High Court

3. % Sessions Court

4. % Consumer Court

Question Number : 69 Question Id : 7532297350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I FHage) a3 ¥ f5d UeR o1 amre g g
Options :

1. ¢ UTOd AT

2. % 3= Uy

3. % g ey

4. % JUYIT =TT

Question Number : 70 Question Id : 7532297351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tenure of urban local self-governing bodies is fixed at five years and in case of earlier dissolution fresh elections are held within months
Options :

1. # Two

2. # Three

3. # Four



4. ¥ Six

Question Number : 70 Question Id : 7532297351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e R W At &1 Hrierd uih oy Fuiid fearmar g sk gwagd v R B Rl wEi % iR WA Bl §
Options :

1. %@

2. % A

3. % dR

4. ¥ B35

Question Number : 71 Question Id : 7532297352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gram Sabha consists of all residents within a village or group of villages.
Options :

1. % Minor

2. % Male

3. % Female

4. % Adult

Question Number : 71 Question Id : 7532297352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A THE IW, QI s T &t fFari affaa s |
Options :

1. # AHJYIh

2. % JoYy

3. % Tfga

4. ¢ qYIh



Question Number : 72 Question Id : 7532297353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following phenomena is defined as the time rate at which work is done or energy is transferred?
Options :

1. # Force

2. ¥ Power

3. % Collision

4. % Motion

Question Number : 72 Question Id : 7532297353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & @ o I uRgedr, 39 IHY & & =0 # UiRHId &) Sird) & 5 IR i fovan Sirar § a1 St RiidaRd ot STt 82
Options :

1. % dd

2. Tfad

3. % UId (CIMR)

4. % Tfq

Question Number : 73 Question Id : 7532297354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which state of matter electrons are ripped away from their nuclei, forming an electron “sea”?
Options :

1. #* Solid

2. % Liquid

3. # Gas

4. ¥ Plasma

Question Number : 73 Question Id : 7532297354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

gerd &1 fAgfaRad & 9 ford /a1 & gaae o= AN ¥ GU® gidhs U Saaci- "qgg" §1d 82
Options :

1. % 319

2. % d¥d

3. % 9

4. v TAqIGHI

Question Number : 74 Question Id : 7532297355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Chilika’ in Odisha is an example of a
Options :

1. ¥ Waterfall

2. ® Starait

3. ¥ Lagoon

4. % Hill

Question Number : 74 Question Id : 7532297355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
snfe=n # fyq T 1 T IR g |
Options :

1. % R

2. % oty

3. ¥ A

4. % UgTSl

Question Number : 75 Question Id : 7532297356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which planet among the following is called the ‘Ice Giant’?
Options :

1. # Saturn

2. % Jupiter

3. % Uranus

4. % Mercury

Question Number : 75 Question Id : 7532297356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafemed & 9 o 91 78 TeH arFa e 82
Options :

1. % i

2. % ggHid

3.9 3130

4. % 9Y

Question Number : 76 Question Id : 7532297357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of a cell is medium for chemical reaction?
Options :

1. # Nucleus

2. ¥ Cytoplasm

3. % Microtubules

4. % Cilia

Question Number : 76 Question Id : 7532297357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIRBT BT FafaRad 7 Q Sa-a1 urT e sififesar & fore Aread &1 &1 Sl 82



Options :

1. ® Y%

2. ¥ DIRBI GH

3. % YEHATIpIY

4. % gegry (Rferan)

Question Number : 77 Question Id : 7532297358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of the human body stores the bile juice that breaks down fats into fatty acids, which can be taken into the body by the digestive tract?
Options :

1. ¥ Duodenum

2. % Appendix

3. # Spleen

4. ¥ Gall Bladder

Question Number : 77 Question Id : 7532297358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
nmmﬁg%ﬁaﬁr@ﬁﬁﬁmmﬁﬁﬁwwméﬁw&ﬁﬁmWﬁﬁwmm%ﬂ@mﬁ:rﬁamwffﬁw
ol Hohdl &7

Options :

1. % 7guit

2. % gRRIN®T (3ufsaH)

3. % wflgT

4. ¢ fUiI=I

Question Number : 78 Question Id : 7532297359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following was a female boxer to get the Arjuna Award for Boxing in 2020?



Options :

1. % Pooja Rani

2. # Laishram Sarita Devi
3. % Jamuna Boro

4. ¥ Lovlina Borgohain

Question Number : 78 Question Id : 7532297359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRed 5 I ®1F, 2020 T Gadharol & AT 3o RIGR U] - aTal WuH Higal Gaoarel a2
Options :

1. % QST

2. % QIR YR &t

3. % SEATIR

4. ¢ FAHT ST

Question Number : 79 Question Id : 7532297360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the captain of Indian Women’s Hockey team in Tokyo Olympic 2020 when Indian women's hockey team reached
the semi-finals of the Olympics for the first time?

Options :

1. ¥ Rani Rampal
2. % Savita Punia
3. ¥ Neha Goyal
4. % Sushila Chanu

Question Number : 79 Question Id : 7532297360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR 3N 2020 H HRA Pt AR glb! < Bt S FHafaRad # 3 o A 9 YRd o1 Afge gie! dH ugdl IR s &
Jitprge | uge o



Options :

1. ¢ I U
2. % giadr gf=an
3. % JgT A
4, % R AF

Question Number : 80 Question Id : 7532297361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The name of Aditi Ashok is associated with which one of the following sport:
Options :

1. # Boxing

2. % Swimming

3. ¥ Golf

4. % Badminton

Question Number : 80 Question Id : 7532297361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el ariter o1 A iR # 3§ fog 9d 3 He6fid &:
Options :

1. % Hadbal

2. % CRTDH

3. ¢ et

4. % qgftfed

Arithmetic Abilityl

Group Number : 5
Group Id : 753229379

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Abilityl

Section Id : 753229379
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229456
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 7532297362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1
Simplify 2=
1

-3

Options :

P |

1. # 13

| ke



3. ¢ 11
4.% 4

Question Number : 81 Question Id : 7532297362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

— & T B

2+

Options :

5

1. % 13

|

w
S
ke

>
b
&= |u

Question Number : 82 Question Id : 7532297363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

V0.16+v0.25 5 V270443

Simplify the expression =
v 0.0025 vEd+y9

Options :
1.% 9



7 « 90
3. % 09

4 % 9.09

Question Number : 82 Question Id : 7532297363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
m v0.16+v0. 2: V2704+3 ﬁwﬁl

V0.0025 Vea+/o
Options :
1. ® 9
2. 90
3 % 0.9
4. % 9.09

Question Number : 83 Question Id : 7532297364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 51 5
Find the difference between the greatest and the smallest of the given ﬁactmns i '2'5 %

= ]
Options :

19
1. % 12



11
2. ¢ 12

Question Number : 83 Question Id : 7532297364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHifed § O 999 9o 3R 98 Sic! (4 H 3ia J1d B

Options :
19
1. % 12

11
2. & 12

Question Number : 84 Question Id : 7532297365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



" B 6=2x3—-1x3+2
Simplify ——
T 4=2%243-2

Options :

2
3

Question Number : 84 Question Id : 7532297365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6-2x3-1x3+2 a,f[ 02 P a,ﬁ-i
4+2x2+3-2

Options :

| k2

Question Number : 85 Question Id : 7532297366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

4 a 2
(5+ax2+2)+(3+3x15-3)
2 5

Find the value of 2;*”;’*?

Options :
10

1% o

336
2. % go7

252
3.4 221

84
4. ® 221

Question Number : 85 Question Id : 7532297366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFgifed o1 7 J1d B

3
(S+axz+2)+(3+3x15+3)
R g2 8
2 7T 7

Options :

10
e
1 % 13
336

) % 897



252
3. & 221

84
4. % 221

Question Number : 86 Question Id : 7532297367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The LCM and HCF of two numbers are 150 and 25, respectively. If one of the numbers is 50, then find the other
number.
Options :

1. % 50

N

2.9 7

e
#
b
J

Question Number : 86 Question Id : 7532297367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&l YTl T THTH FATUGY (LCM) 3R HeH YHYGdS (HCF) HhaRE: 150 3R 25 3 | 4f¢ T T 50 81, Tl
T 9T 1 B

Options :
1. ®% 50

R 4 75



Question Number : 87 Question Id : 7532297368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the LCM to HCF of two numbers is 35 ; 1. If sum of the LCM and the HCF is 504 and difference between
the two numbers is 28, then find the sum of the numbers.

Options :
1. ® 70

) # 98
3 « 168

4 % 158

Question Number : 87 Question Id : 7532297368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l Y13 o YT YHIUAE (LCM) SR Hewd HUadS (HCF) B 341 35 - 1 8 | Ife agad SHIYad (LCM)
3R HETH YHIYGS (HCF) 61 AR 504 AR G STl & &ld &l AR 28 B, I Gea3il &1 AT 31d &1 |
Options :

1. ® 70

) # 98



3 168

Question Number : 88 Question Id : 7532297369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the value of k so that the 6-digit number 345klk is divisible by 11.
Options :

1 ® 7

2.« 8

Question Number : 88 Question Id : 7532297369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

k &7 A Fgifed # T fooaar 815 TR 6 21! 1 TB 345k 1k, 11 F [FHST B
Options :

1.5;.3'?



Question Number : 89 Question Id : 7532297370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the greatest value of (p + k) so that the 6-digit number 2013pk is divisible by 24.
Options :

1 #® 13

) # 14
3.¢ 12
4 % 18

Question Number : 89 Question Id : 7532297370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(p + k) T Hf&Had 7 FHifed 8 I ford=1 8H TR 6 3| Bl UBAT 2013pk, 24 T faH BRTH

Options :

1. % 13
) # 14
3 ¢ 12

4 % 18

Question Number : 90 Question Id : 7532297371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The average of 6 numbers is 8. If the average of 5 of these numbers is 8.2, then find the remaining number.
Options :
1.« 7

Question Number : 90 Question Id : 7532297371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 TRET31 T 3 & 21 AfS 595 U 5 Tamail o1 3fiud 8.2 8, 1 [N Te fAdifed & I 1 It ghfle
Options :

1.« 7

Question Number : 91 Question Id : 7532297372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The average of marks obtained by students of class IX is 65.8 and that of class X is 75.6. If average score of all the
students of both the classes is 70, then what is the ratio of number of students of class IX to that of class X?

Options :
1% 4:

Lh

Question Number : 91 Question Id : 7532297372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

H&f IX o (AT GRT UG U 71U 3feh! &l 3 65.8 & AR D&l X o (¢8I 3{19d 75.6 £ 1 Fia Il Hefl3fl &
g faenfial & offad 9fd 70 8, 01 Hefl 1x & faenfdar & T 3R Safl X & [qanfdal & 9@ & &§ig
fFafeed @ o fosar afurd g

Options :
1w 4

Lh

Question Number : 92 Question Id : 7532297373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Ritesh buys a video game marked at T450. A discount of 20% is given by the company and an additional 10% discount
is given by the dealer. How much money will he get back if he makes the payment with a 2500 note?

Options :
1 ® 2324

5« %176
3 % %186

4 % %102

Question Number : 92 Question Id : 7532297373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=14 2450 <ifdba Hed aTel U AIRSE1 718 WIGT | Ul §RT 20% 61 §cel [G91 T 8 3R SIeR GRT 10% P U
e gcer fear a8 1 afe 39 1AM B & (01U 2 500 &1 AIC [T 8l dl 34 -l 4FRIRT aray o
Options :

| % 324

» & 2176
3 % 2186

4 % T192

Question Number : 93 Question Id : 7532297374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



An item is marked 35% higher than its cost price. Even after allowing some discount, shopkeeper earned 8% profit.
Find the discount percentage allowed by the shopkeeper.

Options :
1. ® 27

7 o 20

3 & 24

Question Number : 93 Question Id : 7532297374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U %] R 39 Hd Ged U 35% P ged 3ifdhd (601 771 8 | $ gcel & & 9yid i HMER A 8% &I a1y
Hioid {1 ghMeR gRI ST T s &1 ufdRrd Fafeiad & I faamr um

Options :

Question Number : 94 Question Id : 7532297375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Difference between 32% and 44% of a number is 81. Find the number.



Options :
1. % 580

5 % 600
3 o 675

4 % 712

Question Number : 94 Question Id : 7532297375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uh T o 32% 3R 44% P 819 I 3R 81 ¢ 98 T&a Hgfaf@d ¥ 4 & [ A grfle

Options :
1. % 580

5 % 600
3 o 675

4 % 712

Question Number : 95 Question Id : 7532297376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If (K + 12) % of 540 is 8% more than 60% of 250, then find the value of VK + 7.
Options :

1.® 7



Question Number : 95 Question Id : 7532297376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i 540 BT (K + 12) %, 250 B 60% W 8% 2P 8. Al VE + 7 BT HMF J1d B
Options :

1_%'.3'?

Question Number : 96 Question Id : 7532297377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an election between two candidates, 12% votes were invalid out of 1,75,000 casted votes. If the winning candidate
got 65% votes of the valid votes, then find the number of votes by which he won the election.

Options :
| % 45,000

5« 46,200



3 % 46,225

4 % 46.500

Question Number : 96 Question Id : 7532297377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gl SHIIGARI & &fd U 919 H, S0 TTW 175000 Fdl H H 129 AT {q¥ UE U] IS fGordt IufeaR & 94 Hal &1
65% UG G 81, A 39+ Faferiad & 9 fasa 9df 9 g9 o faorg urd @b

Options :

1.1; 45000

5« 46200

3 % 46225

4 % 46500

Question Number : 97 Question Id : 7532297378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper bought an item for 320 and sold it for Z360. Find his profit percentage.
Options :

| % 10%

5 % 12%

3 @ 12.5%



4 % 12.8%

Question Number : 97 Question Id : 7532297378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ush GHIER 2320 H Ueb G WRIGH 2R I 2360 H 91| IHb ATH DT Wi=rd J1d H1|

Options :
1. % 10%

5 % 12%
3 @ 12.5%

4 % 12.8%

Question Number : 98 Question Id : 7532297379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P sells an item to Q at 20% profit. Q sells the same item to R at 4% loss. If R pays 4,032 for the item, then at what
price (in ¥) is the item purchased by P?

Options :
| % 3.250

5 % 3.400

3 @ 3.500



4 % 3.600

Question Number : 98 Question Id : 7532297379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P+ 20% WY & GU TS 9&] Q I 54| Q - Gl a¥d 4% Bl TR R &I 1| TfG R = 3 I & [e1U 24032 HI
YT a1 81, ol P = 98 a¥q 9 SiHd 0 (z #) @der o

Options :

| % 3250

5 % 3400
3« 3500

4 % 3600

Question Number : 99 Question Id : 7532297380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bought an item for 3,000 and sold it to B with 8% profit. B sold it to C with 5% profit. If C sold it to D with a profit
of 248, then find the cost price of D (in ).

Options :
| % 3.200



Question Number : 99 Question Id : 7532297380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A UH a%] Bl 23000 T WRIGT 3R 3 B Bl 8% ATH TR 4Tl B A 58 5% 1Y THR € I &4 AlG € 248 BT AT
Tt $3d §U Y D &I 991 81, A1 D & (oY 391 aTd Jed (2 H) J1d 1|

Options :

l_pw 3200

5 & 3450

Question Number : 100 Question Id : 7532297381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some money is distributed among A, B, C and D in the ratio 3 : 4 : 5: 6. If share of B is ¥ 6,000, then find the total
money distributed (in Z).

Options :
| % 25,500

5 % 26,200

3 % 26,850



4 v 27.000

Question Number : 100 Question Id : 7532297381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A,B.CHRD B S UH YRR DI 3 : 4 : 5: 6D IUd ¥ fadRa fbar /1| afe B &1 UFT 26000 B, Tl [GdRd o

TS o SFRITRI (2 H) 1 B

Options :

1. ® 25500

> #® 26200

3 #® 26850

4.« 27000

Arithmetic Ability2

Group Number : 6
Group Id : 753229380
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Arithmetic Ability2

Section Id : 753229380
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229457
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532297382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ifa:b=3:4.b:c=3:5andc:d=5:6,thenfinda:d.
Options :

-

1% 2:3

N
&
L)
-y

[E]

Question Number : 101 Question Id : 7532297382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

tn%[a:b=3:4,b:c=3:Sﬁ?c:d=5:6€[,ﬁa:dﬁ]ﬁﬁl



Options :
1. #% 213

Question Number : 102 Question Id : 7532297383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Asum of Z18,150 is distributed among A, B and C in the ratio 3 : 5: 7. What is the difference in the shares of Aand C
(in 3)?
Options :
| v 4,840

5w 4.800
4,750

Question Number : 102 Question Id : 7532297383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
318150 D] YRIR DI A, BAR C H &IE 3 : 5: 7 3gUId H faald fodr 11 A 3R ¢ & HFT & &1 faaT 3iaR
BRI (2 Hy?




Options :
1« 4540

5 % 4800
3. % 4780

4 % 4750

Question Number : 103 Question Id : 7532297384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ingredients A, B and C are used in the ratio 2 : 5 : 8§ in cooking a dish. If 300 grams of ingredient B is taken for
cooking the dish, then how much of ingredient C is required (in grams)?

Options :
1. ® 470

5 & 480
3 % 485

4 % 490

Question Number : 103 Question Id : 7532297384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Uhal &1 & [ A, B 3R ¢ GYCHI Bl 2 : 5 : 8 o U H SUGIT {641 7141 8| Al Gda a4 & 1w
U9cdh B DI 300 TTH HET @ 115 ol Il WHedh ¢ i fhal A &I AaRddhdl gl (AH H)2
Options :



| ® 470
5« 480
3 % 485

4 % 490

Question Number : 104 Question Id : 7532297385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C started a business by investing 250,000 each. After 7 months, A invested 10,000 more. Four months before
the end of the year, B withdrew his total money and D joined by investing ¥75.,000. If at the end of the year D received
210,000 as his share of profit, then how much is the share of B in the profit (in Z correct to the nearest rupee)?
Options :

| % 12,000

5 % 12,450

Question Number : 104 Question Id : 7532297385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A. B IR ¢ Y& A 250000 D1 (% $Hd U UH AU TR [HT1| 7 HeIH & YYId. A = 210000 BT 2R I
fargT | oy THTE B U IR HelH g4, B 7 30T QX1 & 9199 {6781 3R D A 275000 H1 a1 fasan| afe oy g
BN IR D DI 3 ATH o HF & T H 210000 Wt §U 81, ol ATH H B BT HRT b1 U (FdheaH T UY ddb
PUIETIR

Options :
1. % 12000

5 % 12450

Question Number : 105 Question Id : 7532297386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sapna invested Z54.000 on simple interest, partly at 8%0 per annum and partly at 10% per annum. If she earns equal
interests from the two investments after 2 years, then find the sum invested at 8% per annum (in 3).

Options :
| % 26,800
) ® 27,500

3 % 28,800

4 v 30,000



Question Number : 105 Question Id : 7532297386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[UAT A 254000 & TP HIT B 82 URTTY 3R 37 HRT B 10% Uiy IR &G O3 FARId fbar afg 39+ 2 9y
T S A9 S 9HH saTS U fohar g1, af 8o aItd i g3 ¥ FafRia o= (z #) J1d S

Options :
1. % 26800

5 % 27500

Question Number : 106 Question Id : 7532297387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kapil invested 79,500 on compound interest, partly at 5% per annum and partly at 10% per annum. If he earns 72,451
as interest after 3 years, then what was the sum (in %) invested at 10% per annum?

Options :
| % 4,000

5 % 5.000

3 5.500

4 % 5.800



Question Number : 106 Question Id : 7532297387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT = 29500 DI YRIIRT BT T HRT 5% Alfcs AR 3= HRT 10% TN dehgiG sTel a3 UR [FafRid fdar) afe
3 3 Y UL 22451 ST 2fford (641 81, Al 10% TTND aX IR AT R (2 ) foan g

Options :

| % 4000

5 % 5000
3 & 5500

4 % 5800

Question Number : 107 Question Id : 7532297388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Joseph travelled 270 km by taxi in 5 hours. If on the way he stopped 2 times for 15 minutes each, then find the speed of
the taxi (in km/h).

Options :

1 #® 58

7 " 60

Question Number : 107 Question Id : 7532297388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Sl - U cadl d 5 ¢ § 270 km &1 R &1 | Al I ¥ 98 U SR 15 {H7E T e 2 IR 1 gl i ol &l
el (km'h f[] sﬂﬁaﬁl

Options :

1. ® 38

2. 60

Question Number : 108 Question Id : 7532297389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Varun travelled 50 kin on a bus at a speed of 25 kmvh, and 560 ki on train at a speed of 70 knvh. Find the average
speed of Varun during the enfire journey (in km/h).

Options :
1. #® 65
) #® 63
3.+ 6l
4. % 605

Question Number : 108 Question Id : 7532297389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

B0 Uh 99 H 25 knv'h 1 16 Y 50 km 1 AT B, Gﬁ_\fa:fﬁf 70 knvh &1 1A T 560 km BI AET Bl | @W%
G G201 I 3R I (ko #) F1d B

Options :

1. ® 65

) #® 63

3.¢ 61

4 % 60.5

Question Number : 109 Question Id : 7532297390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A walks 5 m in 4 seconds. Find his speed in kin/h.
Options :

1.« 4.5

) #% 4.8

Question Number : 109 Question Id : 7532297390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A 4THS H 5 m Iddl & | km/h H ITH! 919 J1d Y|

Options :
1.« 4.5

) #® 4.8

Question Number : 110 Question Id : 7532297391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A and B together can do a work in 12 days. If A alone can do the same work in 18 days, then in how many days can B
alone do the same work?
Options :
1.« 36

Question Number : 110 Question Id : 7532297391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A 2R B TS 1Y fide [t s &l 12 fEAT H & Oahd &1 Ot Fad A, IS S 1 26d 18 e 7 3 g
¢, 9l 39 B0 B! Had B AP fhad el & & Ihdl 22

Options :
1. 36

) #® 35

Question Number : 111 Question Id : 7532297392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can complete one-third of some work in 8 days. He started the work alone and after 4 days, B joined him. Together
they finished the whole work in 16 days. In how many days can B alone do the work?

Options :
1. % 35

)« 36

3 #% 34

Question Number : 111 Question Id : 7532297392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A fad BT &1 Ua-1IgTS HRT s &A1 H X Gahdl ¢ | 3T 3fdhdl B Y (T AR 4 &1 & 91 39d 91y B i
e 81 41| 36l HeidR QR B Bl 16 a1 R fdogn| ae B 39 B &l 2fdbdl foba el o &R gabdl 22

Options :
1. # 35

2.« 36

3 & 34

Question Number : 112 Question Id : 7532297393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The lengths of parallel sides of a trapezium are 15 cm and 21 cm, respectively. If the distance between the parallel sides
is 10 cm, then find the area of the trapezium (in szl.

Options :

1 % 170

5« 180
3 % 188

4 % 192

Question Number : 112 Question Id : 7532297393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Uch AU IGHS Bl FHITR HOlT3{l &1 Adlg 15 cm 3R 21 em 8 | AT GHIAR HoT{l & &9 BI G 10 cm B Tl
Waﬂgﬁﬁm{sq. cmﬁﬁﬁﬂﬁl

Options :
1. % 170

5« 180
3 % 188

4 % 102

Question Number : 113 Question Id : 7532297394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tiles are to be fixed on the floor of a hall of length 10 m and breadth 7.5 m. Find the cost of tiles if square tiles of side
25 cm are available at 3450/dozen.

Options :

| % 742,000

, % T43,750
3 % 44,920

4 T45.000

Question Number : 113 Question Id : 7532297394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



10 m GETg AR 7.5 m AISTS aldl el 7 WX UR C5d 1 Ol ¢ 1 Fd 25 om HSIT dTell d¥NidbR Tlgd T 450 Yid
gor H IUdsy gi, di cIgdl ol arTd JTd B2

Options :
1. % 342000

» % 343750
3 % 344920

4« F45000

Question Number : 114 Question Id : 7532297395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A square and a rectangle have an equal perimeter of 200 m. If sides of the rectangle are in the ratio 2 : 3, then find the
ratio of area of the rectangle to that of the square.

Options :
1% 4:

A

LN
o

2. ®

3¢ 24:25

Question Number : 114 Question Id : 7532297395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U o 3R Ueh HTId I THIF URHAY 200 m S | TS RIT o1 YOSl BT SFUIT 2 : 3 81, 1 A1Td &b &7%d AR I
o BT Bl U JTd B

Options :

1. # 4:5

Question Number : 115 Question Id : 7532297396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- « 7 . E
A road roller has a diameter 1.75 m and length 2 m. How much area (in m“) can it cover in 10 rounds?

(Use = E)
F

Options :
1.« 110

5 % 100
3 % 108

4 % 106

Question Number : 115 Question Id : 7532297396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U IS TR BT AN 1.75 m AR TGS 2 m g | T 10 IR H [hdHT &% (sq. m H) I Tbell g2
( = i—z EFHFT) |

Options :
1.« 110

5 % 100
3 % 108

4 % 106

Question Number : 116 Question Id : 7532297397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A metallic toy is in the shape of a hemi-sphere surmounted by a cone of height 12 cm. If diameter of the hemi-sphere is

10 cm. then find the surface area of the toy in em? (correct to 1 decimal place).

(Use = E)
7

Options :
1. % 360

5 3614

3 % 362.8



Question Number : 116 Question Id : 7532297397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Td I G 12 em $dlg AT U R@‘W‘i ¢ 3ﬁa@ﬁ[ﬁ%l gfe TIelg 1 A 10 om B, 1 RIAH BT
ORI &5 sq. cm H (1 SR R A GUliidad) 1A H1|
( n=2 EFIT?T)
K
Options :
| % 360

) & 3614

Question Number : 117 Question Id : 7532297398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A hemi-spherical bowl has a thickness of 1 cm. If external diameter of the bowl is 30 cm, then what is the capacity of
the bowl (in cm?®)?

(Use T= ?)

Options :
1
4 5759;

1
- 5?28;



3
3 % 5?381

1
. 5?49;

Question Number : 117 Question Id : 7532297398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U HTTIHR HeR Bl AlCTy | cm &l G PR BT ags! AT 30 cm Bl A1 dei B IR (99 cm ) J1d B
(=2 )

Options :

1
5?59§

1. %

1
5728—
) ® 3

3
5738-
3 % 4

1
5749—
4. 3

Question Number : 118 Question Id : 7532297399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Marks of 50 students in a test of 60 marks are shown in the following table.

Marks

0-10

10-20

20-30

30-40

40-50

50-60

Number

8

11

12

13

4

~

How many students got marks less than 407

Options :
1. % 31

) % 48
3. ¢ 44

4. % 46

Question Number : 118 Question Id : 7532297399 Question Type : MCQ Option Shuffling
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

60 3T &I T GIe H so faenfial & 3is My difde H UeRid g

: Yes Is Question Mandatory : No Option

b 0-10 10-20 20-30 30-40 40-50 50-60
3] 3 12 13 4 2
fepa faenfafal &t 40 © &7 o e &
Options :

1. #® 31



) % 48
3. ¢ 44

4. % 46

Question Number : 119 Question Id : 7532297400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The data given in the following table shows the mumber of boys and girls interested in different sports in a school over 5
years.

Athletics Tennis Badminton
Years | Boys Girls Boys Girls Boys Girls
2012 65 62 20 35 35 45
2014 72 45 22 32 32 42
2016 80 42 25 30 36 38
2018 62 46 30 23 28 34
2020 71 45 23 30 29 41

Find the ratio of number of boys interested in Tennis or Badminton to that of girls interested in Athletics over the 5
years?

Options :

1. ® 4 :

[\)
b
Lo |
:r_;

w
b
Lh
|



4. & 7:6

Question Number : 119 Question Id : 7532297400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Wbl U 5 9 o R, [afid Well § %t 3@ a1 ds ol SR dsibdl & We & ks, Mifdd arfed o
BRI

yifcdy g qefticd

o [csd |sieal | |wsieal |ase | asieal
2012 | 65 62 20 35 33 45
2018 |72 45 T 32 32 42
2016 |80 42 25 30 36 |38
2018 | 62 46 30 23 28 34
2020 | 71 45 23 30 29 41
5 aN] o GRM, <Y a1 deffed § 3 3@+ ard

ASH| &I T AR vydicay H S Wa- gl
NSERIEIR I IE AR B IRINE RS

Options :

1% 4:7

) # 5:4

3 % 5:7



Question Number : 120 Question Id : 7532297401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following bar graph shows number of Jackets and Trousers of different colours sold in a week at a shop.

—
L

e
(]

BJackets

ZTrousers

Number
il
O 1 L ST O -] G0 DD

Maroon

Colours

Find the ratio of the number of Black and Maroon colour Jackets sold to the number of Navy Blue and Maroon colour
Trousers sold in the week at the shop.

Options :
1. % 3:2

I
—

2. ¥

L
=

3.% 5



4. % 5:3

Question Number : 120 Question Id : 7532297401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U b1 R Ueh Uile o GRM 9 7Y fafH Wi & Sidhe 3R Yool ol U Fgifohd 48 SiRE (dR U1%) |
TelRide

13 e

12 .

1 - N

10 - q \

0 N %

' N7 \

= = \ =

N "
ol I

YuiTe & QR G W 84 7T stids 3R T T o widbel $1 GBAT 3R & T 4! & R B T TIIoR] Bl
G 1 ST I Be|

Options :

1. % 3:2

) o 21

3% 5:4
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Question Number : 121 Question Id : 7532297402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

General English1

7
753229381

General English1

753229381
1

Online
Mandatory
20

20

20

Yes

1
753229458
Yes



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

It was an question, everybody answered it correctly.
Options :

1. # honest

2. ¥ easy

3. % ugly

4. % early

Question Number : 121 Question Id : 7532297402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

It was an question, everybody answered it correctly.
Options :

1. # honest

2. ¥ easy

3. % ugly

4. % early

Question Number : 122 Question Id : 7532297403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The children will visit the zoo Sunday.
Options :

1. ® in

2. % at

3.% on

4. % for



Question Number : 122 Question Id : 7532297403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The children will visit the zoo Sunday.
Options :

1. ® in

2. % at

3. ¥ on

4. % for

Question Number : 123 Question Id : 7532297404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Please get these medicines
Options :

1. * rarely

2. % easily

3. * usually

4. ¥ immediately

Question Number : 123 Question Id : 7532297404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Please get these medicines
Options :

1. ® rarely



2. % easily
3. %* usually

4. ¥ immediately

Question Number : 124 Question Id : 7532297405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

This book belongs to
Options :

1. ¥ me

2. % 1

3. ®* my

4. % mine

Question Number : 124 Question Id : 7532297405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

This book belongs to
Options :

1. ¥ me

2. % 1

3. % my

4. % mine

Question Number : 125 Question Id : 7532297406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.



Last evening, | to see a movie.
Options :

1. ® go

2. % went

3. % am going

4. % will go

Question Number : 125 Question Id : 7532297406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Last evening, | to see a movie.
Options :

1. # go

2. ¥ went

3. % am going

4. % will go

Question Number : 126 Question Id : 7532297407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Spiders eight legs.
Options :

1. ¥ have

2. % had

3. % are having

4. ¥ were having

Question Number : 126 Question Id : 7532297407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Spiders eight legs.
Options :

1. ¥ have

2. # had

3. # are having

4. ¥ were having

Question Number : 127 Question Id : 7532297408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

When I finish school, I a job.
Options :

1. # take

2. # took

3. % will take

4. % have taken

Question Number : 127 Question Id : 7532297408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

When I finish school, | a job.
Options :

1. # take

2. # took

3. ¥ will take

4, % have taken



Question Number : 128 Question Id : 7532297409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Who is sitting on last bench?
Options :

l.* a

2. % an

3. ¥ the

4. % No word required

Question Number : 128 Question Id : 7532297409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Who is sitting on last bench?
Options :

l.* a

2. % an

3. ¥ the

4. % No word required

Question Number : 129 Question Id : 7532297410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

She has pet cat whose name i1s Noodles.
Options :
1.¥a



2. % an
3. # the

4. ¥ No word required

Question Number : 129 Question Id : 7532297410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

She has pet cat whose name is Noodles.
Options :

1.¥a

2. % an

3. % the

4. ¥ No word required

Question Number : 130 Question Id : 7532297411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The children had to write essay on the Diwali festival.
Options :

1. % a

2.9 an

3. # the

4. ¥ No word required

Question Number : 130 Question Id : 7532297411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.



The children had to write essay on the Diwali festival.
Options :

1. % a

2. % an

3. # the

4. ¥ No word required

Question Number : 131 Question Id : 7532297412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Our team has some talented bowlers.
Options :

1. ¥ fast

2. # faster

3. # fastest

4. % more faster

Question Number : 131 Question Id : 7532297412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Our team has some talented bowlers.

Options :
1. ¥ fast
2. # faster
3. # fastest

4. % more faster

Question Number : 132 Question Id : 7532297413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Your handwriting is than mine.
Options :

1. # good

2. ¥ better

3. % best

4. % more better

Question Number : 132 Question Id : 7532297413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Your handwriting is than mine.
Options :

1. # good

2. ¥ better

3. * best

4. * more better

Question Number : 133 Question Id : 7532297414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

This was the question in the test paper.
Options :

1. # easy

2. # easier

3. % casiest

4. % most easiest



Question Number : 133 Question Id : 7532297414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

This was the question in the test paper.
Options :

1. # easy

2. % easier

3. ¥ easiest

4. % most easiest

Question Number : 134 Question Id : 7532297415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is correctly punctuated.
Options :

1. # Ashok when did you come.

2. ¥ Ashok, when did you come?

3. % Ashok when did you come?

4. ¥ Ashok, when did you come.

Question Number : 134 Question Id : 7532297415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is correctly punctuated.
Options :

1. # Ashok when did you come.

2. ¥ Ashok, when did you come?

3. % Ashok when did you come?

4. ¥ Ashok, when did you come.



Question Number : 135 Question Id : 7532297416 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is correctly punctuated.
Options :

1. ® Ilive in, delhi the capital of India.

2. # [ live in Delhi the capital of India.

3. # I live in Delhi: the Capital of India.

4. ¥ 1 live in Delhi, the capital of India.

Question Number : 135 Question Id : 7532297416 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is correctly punctuated.
Options :

1. # Ilive in, delhi the capital of India.

2. # I live in Delhi the capital of India.

3. # 1live in Delhi: the Capital of India.

4. ¥ 1 live in Delhi, the capital of India.

Question Number : 136 Question Id : 7532297417 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option thatis correctly punctuated.
Options :

1. ® The teacher said tea is grown in Assam.

2. ® The teacher said, tea is grown in Assam.

3. ¥ The teacher said, “Tea is grown in Assam.”

4. ® The teacher said “tea is grown in Assam.”

Question Number : 136 Question Id : 7532297417 Question Type

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option thatis correctly punctuated.
Options :

1. # The teacher said tea is grown in Assam.

2. # The teacher said, tea is grown in Assam.

3. ¥ The teacher said, “Tea is grown in Assam.”

4. # The teacher said “tea is grown in Assam.”

Question Number : 137 Question Id : 7532297418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

You are looking tired. a break.
Options :

1. #* Do

2. % Make

3. ¥ Have

4. ¥ Take

Question Number : 137 Question Id : 7532297418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

You are looking tired. a break.
Options :

1. # Do

2. ¥ Make

3. ¥ Have

4. ¥ Take



Question Number : 138 Question Id : 7532297419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

There are some beautiful things in this shop. Let’s a look.
Options :

1. ¥ take

2. % do

3. * make

4. # keep

Question Number : 138 Question Id : 7532297419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

There are some beautiful things in this shop. Let’s a look.
Options :

1. ¥ take

2. % do

3. * make

4. % keep

Question Number : 139 Question Id : 7532297420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Risky

Options :

1. # Safe

2. ¥ Dangerous



3. #* Harmless

4. % Secure

Question Number : 139 Question Id : 7532297420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Risky

Options :

1. # Safe

2. ¥ Dangerous
3. ¥ Harmless

4. % Secure

Question Number : 140 Question Id : 7532297421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate ANTONYM of the given word.

Rough
Options :

1. ¥ Bumpy
2. % Rocky
3. % Smooth

4. % Uneven

Question Number : 140 Question Id : 7532297421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate ANTONYM of the given word.

Rough



Options :

1. * Bumpy
2. % Rocky
3. ¥ Smooth

4. # Uneven
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Question Number : 141 Question Id : 7532297422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The sky was and a soft wind
Options :

1. ¥ blue; blew

2. % blue; blue

3. % blew; blue

4. ® blew; blew

Question Number : 141 Question Id : 7532297422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The sky was and a soft wind
Options :

1. ¥ blue; blew

2. % blue; blue

3. #® blew; blue

4. # blew; blew

Question Number : 142 Question Id : 7532297423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Keep your foot lightly on the . You might it.
Options :

1. # break; brake

2. # brake; brake



3. ¥ brake; break
4. # break; break

Question Number : 142 Question Id : 7532297423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Keep your foot lightly on the . You might it.
Options :

1. # break; brake

2. #* brake; brake

3. ¥ brake; break

4. # break; break

Question Number : 143 Question Id : 7532297424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

High time

Options :

1. # Difficult time

2. % Appropriate time
3. # Happy time

4. % Short time

Question Number : 143 Question Id : 7532297424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

High time



Options :

1. # Difficult time

2. % Appropriate time
3. % Happy time

4. # Short time

Question Number : 144 Question Id : 7532297425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Once in a blue moon
Options :

1. ¥ Rarely

2. # Usually

3. % Never

4. # Regularly

Question Number : 144 Question Id : 7532297425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Once in a blue moon
Options :

1. ¥ Rarely

2. % Usually

3. #* Never

4. % Regularly

Question Number : 145 Question Id : 7532297426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to fill in the blank.

In 2020, the Covid-19 pandemic in the whole world.
Options :

1. # broke up

2. ¥ broke out

3. % broke in

4. # broke down

Question Number : 145 Question Id : 7532297426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

In 2020, the Covid-19 pandemic in the whole world.
Options :

1. # broke up

2. % broke out

3. % broke in

4. % broke down

Question Number : 146 Question Id : 7532297427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. # Hobby

2. ¥ Hocky

3. % Horse

4. # House

Question Number : 146 Question Id : 7532297427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. # Hobby

2. % Hocky

3. * Horse

4. % House

Question Number : 147 Question Id : 7532297428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. ¥ Twinkle

2. % Twinkel

3. # Twinkal

4. % Tuinkle

Question Number : 147 Question Id : 7532297428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. ¥ Twinkle

2. # Twinkel

3. % Twinkal

4. # Tuinkle

Question Number : 148 Question Id : 7532297429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.



Options :

1. # Defeted
2. # Difeated
3. # Defeeted
4. ¥ Defeated

Question Number : 148 Question Id : 7532297429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # Defeted

2. # Difeated

3. # Defected

4. ¥ Defeated

Question Number : 149 Question Id : 7532297430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.

to buy/ my father/ no money/a car/ had
Options :

1. # No money had my father a car to buy.
2. # A car had no money to buy my father.
3. % My father had no money to buy a car.

4. ¥ To buy my father no money a car had.

Question Number : 149 Question Id : 7532297430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.



to buy/ my father/ no money/a car/ had
Options :

1. ¥ No money had my father a car to buy.
2. % A car had no money to buy my father.
3. ¥ My father had no money to buy a car.
4. ® To buy my father no money a car had.

Question Number : 150 Question Id : 7532297431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.

fighter planes/ passenger planes/ than the/fly at a/ much greater speed
Options :

1. #® Passenger planes fly at a much greater speed fighter planes than the.
2. # Fly at a much greater speed fighter planes passenger planes than the.
3. ¥ Fighter planes fly at a much greater speed than the passenger planes.
4. ® Than the passenger planes fly at a much greater speed fighter planes

Question Number : 150 Question Id : 7532297431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.

fighter planes/ passenger planes/ than the/fly at a/ much greater speed
Options :

1. # Passenger planes fly at a much greater speed fighter planes than the.
2. # Fly at a much greater speed fighter planes passenger planes than the.
3. ¥ Fighter planes fly at a much greater speed than the passenger planes.
4. ® Than the passenger planes fly at a much greater speed fighter planes

Question Number : 151 Question Id : 7532297432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.

difficult / to get admission/ it is/ to this school
Options :

1. # To this school to get admission difficult it is.
2. % Difficult to get admission it is to this school.
3. # To get admission to this school it is difficult.
4. ¥ 1t is difficult to get admission to this school.

Question Number : 151 Question Id : 7532297432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.

difficult / to get admission/ it is/ to this school
Options :

1. # To this school to get admission difficult it is.
2. # Difficult to get admission it is to this school.
3. % To get admission to this school it is difficult.
4. ¥ 1t is difficult to get admission to this school.

Question Number : 152 Question Id : 7532297433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can be used as a one-word substitute for the given group of words.

The sound made by a cow
Options :

1. % Coo

2. ¥ Moo

3. % Caw

4. # Croak



Question Number : 152 Question Id : 7532297433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can be used as a one-word substitute for the given group of words.

The sound made by a cow
Options :
1. * Coo
2. ¥ Moo
3. % Caw

4. % Croak

Question Number : 153 Question Id : 7532297434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can be used as a one-word substitute for the given group of words.

A group of fish
Options :

1. * Pride

2. * Swarm
3. * Flock

4. ¥ School

Question Number : 153 Question Id : 7532297434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can be used as a one-word substitute for the given group of words.

A group of fish
Options :
1. # Pride



2. * Swarm
3. ® Flock
4. % School

Question Number : 154 Question Id : 7532297435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can be used as a one-word substitute for the given group of words.

A doctor who specialises in heart diseases
Options :

1. ¥ Cardiologist

2. % Radiologist

3. ¥ Nephrologist

4. % Dermatologist

Question Number : 154 Question Id : 7532297435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can be used as a one-word substitute for the given group of words.

A doctor who specialises in heart diseases
Options :

1. ¥ Cardiologist

2. % Radiologist

3. # Nephrologist

4. ¥ Dermatologist

Question Number : 155 Question Id : 7532297436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can be used as a one-word substitute for the given group of words.



Animal that lives both, on land and in water
Options :

1. ¥ Mammal

2. % Reptile

3. ¥ Amphibian

4. % Invertebrate

Question Number : 155 Question Id : 7532297436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can be used as a one-word substitute for the given group of words.

Animal that lives both, on land and in water
Options :

1. ¥ Mammal

2. % Reptile

3. ¥ Amphibian

4. % Invertebrate

Sub-Section Number : 2
Sub-Section Id : 753229460
Question Shuffling Allowed : Yes

Question Id : 7532297437 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the given passage and answer the questions that follow.

KATHMANDU, 17 September, 2020: A strong earthquake of 6 magnitude shook Nepal's capital Kathmandu and surrounding areas on
Wednesday, forcing people to rush out of their houses.

According to the National Seismological Center, the quake occurred in the country's Sindhupalchowk district near Tibet border at 5.19 am.
The epicentre of the earthquake was Ramche village in the district, 120 km east of Kathmandu.

Another mild tremor of 3.8 magnitude was also felt at the same place later at 6.10 a.m., it said.

The strong tremor, which was felt in central and eastern Nepal, jolted the Kathmandu valley, forcing people out of their houses early in the
morning.



However, no casualty was so far reported.
Nepal experienced a devastating earthquake in 2015 that killed 9,000 people and Sindhupalchowk district was one of the worst-hit areas.

Sub questions

Question Number : 156 Question Id : 7532297438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given passage is:

Options :

1. # afable

2. ¥ anews item

3. % astory

4. % anotice

Question Number : 157 Question Id : 7532297439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following questions CANNOT be answered after reading the given passage?
Options :

1. # When did the earthquake occur?

2. # Where did the earthquake occur?

3. % How strong was the earthquake?

4. ¥ What damage did the earthquake cause?

Question Number : 158 Question Id : 7532297440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which place was the epicentre of the earthquake?
Options :

1. % Kathmandu

2. % Tibet border

3. % Ramche village

4. # Eastern Nepal



Question Number : 159 Question Id : 7532297441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘no casualty was so far reported’ means that:
Options :

1. # no property was destroyed

2. # no house was damaged

3. % nobody died

4. # people were not casual about the earthquake

Question Number : 160 Question Id : 7532297442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What magnitude was recorded for the Wednesday earthquake at 5.19 a.m.?
Options :

1. % 338

2.9 6.0

3. % 519

4. % 6.10

Question Id : 7532297437 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the given passage and answer the questions that follow.

KATHMANDU, 17 September, 2020: A strong earthquake of 6 magnitude shook Nepal's capital Kathmandu and surrounding areas on
Wednesday, forcing people to rush out of their houses.

According to the National Seismological Center, the quake occurred in the country's Sindhupalchowk district near Tibet border at 5.19 am.
The epicentre of the earthquake was Ramche village in the district, 120 km east of Kathmandu.

Another mild tremor of 3.8 magnitude was also felt at the same place later at 6.10 a.m., it said.

The strong tremor, which was felt in central and eastern Nepal, jolted the Kathmandu valley, forcing people out of their houses early in the
morning.

However, no casualty was so far reported.

Nepal experienced a devastating earthquake in 2015 that killed 9,000 people and Sindhupalchowk district was one of the worst-hit areas.



Sub questions

Question Number : 156 Question Id : 7532297438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given passage is:

Options :

1. # afable

2. ¥ anews item

3. % astory

4. % anotice

Question Number : 157 Question Id : 7532297439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following questions CANNOT be answered after reading the given passage?
Options :

1. # When did the earthquake occur?

2. # Where did the earthquake occur?

3. % How strong was the earthquake?

4. ¥ What damage did the earthquake cause?

Question Number : 158 Question Id : 7532297440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which place was the epicentre of the earthquake?
Options :

1. % Kathmandu

2. % Tibet border

3. % Ramche village

4. # Eastern Nepal

Question Number : 159 Question Id : 7532297441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘no casualty was so far reported’ means that:
Options :

1. # no property was destroyed

2. # no house was damaged

3. % nobody died

4. # people were not casual about the earthquake

Question Number : 160 Question Id : 7532297442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What magnitude was recorded for the Wednesday earthquake at 5.19 a.m.?

Options :
1. % 338
2.9 6.0
3. % 519
4. % 6.10

General Hindil
Group Number : 9
Group Id : 753229383
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Hindil

Section Id : 753229383
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229461
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 7532297443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2f&or yRd & e o HA P 3 B 3| a1 & Nad ™I & e Iugad Wsg &1 999 HRU-
Options :

1. % dY]

2. % O]

3. ¥ dIg

4. % dI]

Question Number : 161 Question Id : 7532297443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&7 YR & RS A HAT P S BId & | I & Nad ™I & 1T Iugad Wsg &1 999 HRU-
Options :

1. % dy

2. % d¥]

3. ¥ dRg

4. % dRq




Question Number : 162 Question Id : 7532297444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qUH S AR I g1 T 3 R R P RIT IUa Weg BT T HifeTe-
Options :

1. S

2. % A

3. % ST

4, ® YrHA

Question Number : 162 Question Id : 7532297444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gyd SN A CE SdI ]| a9 & Nad ®IM & o Sugad Wsg &1 70 BIfoTL-
Options :

1. % SI[HA

2. % S

3. % Sl

4. % iHq

Question Number : 163 Question Id : 7532297445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g1 ug Tl R 1° I BT HTd ©-
Options :

1. = gH Hd

2. % g yd

3. % guf yd

4.« 3ol yd



Question Number : 163 Question Id : 7532297445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i ue el i 1° aTeRs BT BTed B-
Options :

1. = gH Yd

2. % gfdwy yd

3. % gui yd

4.« 3ol yd

Question Number : 164 Question Id : 7532297446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
31T WAdT 1T > TR T BT -
Options :

1. ¢ T I

2. % HHTY IAHM

3. % Y Hidw

4. % GHTeg Hid™

Question Number : 164 Question Id : 7532297446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
31Ty WAdT BN > IR T BT -
Options :

1. ¢ e gaae

2. % HUTY IAHH

3. % GHFY HidH

4. % FYrg Hid™

Question Number : 165 Question Id : 7532297447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3T e fawedt & T8 ard 82 39 ared | forg o fag 1 uai 82
Options :

1. % foumfesaiys

2. ¢ YYD

3. % gioidh

4, % JGU

Question Number : 165 Question Id : 7532297447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

37U RIS, feeeh & X6+ aTdl &2 39 a1 | oy faRm g &1 v &2
Options :

1. % fowrfeays

2. ¥ YYddd

3. % Glold

4. % 30

Question Number : 166 Question Id : 7532297448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B SR TIHT YT B 5 I T SR & SIS {5 foRT Ferg T v @2
Options :

1. % guf for/

2. % 3fcy farmH

3. % YYdddh

4. ¢ f[qaIedIy®

Question Number : 166 Question Id : 7532297448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

B $AR) DT AT S| 37 I A SR & 1 b forT g o1 T 29
Options :

1. % guf for

2. % 3fcy farmH

3. % YYdddh

4. ¢ f[qwaIedIy®

Question Number : 167 Question Id : 7532297449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT 31 T UhR T I 82
Options :

1. % 3Udi]

2. % WA I

3. % JYad ar

4. % fog qre

Question Number : 167 Question Id : 7532297449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘g1 S5l 5 |” fobd UBR BT a1 82
Options :

1. #* JUdi

2. ¢ O AR

3. % JYId aI

4. % foy 9|

Question Number : 168 Question Id : 7532297450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



W FIATST 98 B, I8 oifd BRI gt I” b TR &1 ar1ad 872
Options :

1. % IUdie

2. % WA I

3. % JYId aI

4. oy a1

Question Number : 168 Question Id : 7532297450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S RIATST 41 B, I Siid g1 gt 1* fhT YR &1 a1 82
Options :

1. % 3Udi

2. % A dIH

3. % gYod die

4. foy ar|m

Question Number : 169 Question Id : 7532297451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e/ M 3R faenff ugs a1’ {5 g bR &1 g 82
Options :

1. # JUdiR]

2. % WA dIH

3. ¢ JYad aI

4. % fog qre

Question Number : 169 Question Id : 7532297451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefep M 3R faenff uga o ° frg ypR 1 a1 82



Options :

1. % 3JUdie

2. % WA AR
3.« ggad di
4. % foy a1y

Question Number : 170 Question Id : 7532297452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRIFAr {59 UHR &t = 3

Options :

1. " Y[dddd

2. % fdIarde

3. % Glfdardd

4, % Geridrad

Question Number : 170 Question Id : 7532297452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TEHaAr Y UHR &t W82

Options :

1. ¢ YHIddIdh

2. % Hfqdrdd

3. % Glfdard

4, % gerarad

Question Number : 171 Question Id : 7532297453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oA T UHR BT =0T g2

Options :




1. % graHe
2. ® A D
3. % gRATEYS
4. & T[UTdTIh

Question Number : 171 Question Id : 7532297453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oA T UHR BT =0T g2
Options :

1. % GraHHS

2. % gHAEAES

3. % GRATUEYD

4. « TUIATd D

Question Number : 172 Question Id : 7532297454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied o @ &1 91 fadwen 3TH YN &1 ISTER0 32
Options :

1. ¥ gH

2. % dH

3. % 3[4

4, % dg

Question Number : 172 Question Id : 7532297454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed & I &I 91 fadwed 300 J3Y &1 IS6x0I 82
Options :

1. ¥ gH




2. % gH
3. % 3y
4. % 8

Question Number : 173 Question Id : 7532297455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafied o § &1 91 fadhed 31 T3Y &1 3a18v0l g2
Options :

1. %o

2. % dH

3.¥Yg

4, % 34

Question Number : 173 Question Id : 7532297455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faffad § @ 1 I1 fdeed 31 [0 BT JeTeru 82
Options :

1% H

2. % dH

3.3

4. % 3

Question Number : 174 Question Id : 7532297456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 & 91 ¥sg gfee 82
Options :

1. % o

2. ¢ FoRI




3. % T
4. % Irac

Question Number : 174 Question Id : 7532297456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad o @ o9 a1 Wsg gfeaT 72
Options :

1. % fo=ar

2. ¢ FRI

3. % G

4. % grEC

Question Number : 175 Question Id : 7532297457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Foffed & & o 91 eg Tiifel el 82
Options :

1. ¥ U&l

2. % WRId

3. % gfery

4. % Uy

Question Number : 175 Question Id : 7532297457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofied # ¥ 1 91 Wea WIfeHT el 82
Options :

1. ¥ U&i

2. % WRId

3. % gfery



4. % URIE

Question Number : 176 Question Id : 7532297458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed # 3 &1 91 fadwe thaeH g2
Options :

1. % e

2. ¢ Ufgan

3. % BUS

4. #® UIdHI[

Question Number : 176 Question Id : 7532297458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad o 9 &F 1 fadhed Thaad 52
Options :

1. % Afear

2. ¥ Tfgar

3. % HUS

4. % USRI

Question Number : 177 Question Id : 7532297459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e’ oI faufad e aga== a1 g
Options :

1. % qfg

2. % §gl

3. ¥ g

4. % qgl



Question Number : 177 Question Id : 7532297459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Fe o1 fayfda I agaad F g
Options :

1. ® §fga

2. % gl

3. §g

4. % ggl

Question Number : 178 Question Id : 7532297460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR H oo Ul &1 vt g3 g2
Options :

1. % U

2. % R

3.9 WX

4, % hH

Question Number : 178 Question Id : 7532297460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WRIHY 7 6T Iuaf o1 yET gan 3e
Options :

1.* 1

2. % W

3.9 IR

4. % hH



Question Number : 179 Question Id : 7532297461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ferarac # ford U o1 TR g3l &2
Options :

1. ® 3c

2. % dc

3. % 3dc

4.« 3ldc

Question Number : 179 Question Id : 7532297461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rrarae 7 fog ugg o1 UaT g g2
Options :

1. % 3{c

2. % dc

3. % 3{dc

4. ¥ 3{[dc

Question Number : 180 Question Id : 7532297462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R 1 T Y- e ®
Options :

1.« % + am=m

2. % 9+ 3fm=m

3. % =t + TR

4. % <t + 31

Question Number : 180 Question Id : 7532297462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

R %1 g8t If-fo=g wn g

Options :
1.« T3 + 3m=m
2. % 3+ amam
3. % <%+ 1=
4, % Y + STRI
General Hindi2
Group Number : 10
Group Id : 753229384
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Hindi2
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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1



Sub-Section Id : 753229462
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 7532297463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g’ H1 Fg! Ae-fawdg =1 grm?
Options :

1. # gH +dlq

2. ¥ JH +dlq

3. % g9 +dlq

4. % G+ TG

Question Number : 181 Question Id : 7532297463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fare 1 He J-fe g
Options :

1. ® gH +dlg

2. ¥ {JH +dlq

3. % g9+ dlq

4. % Jq+diq

Question Number : 182 Question Id : 7532297464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I D1 IfY-fa=sg o1 g

Options :

1% +39

2. % T+ 39

3.9 1+ 3



4. % A+

Question Number : 182 Question Id : 7532297464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A D1 GiY-fawde o1 grm?

Options :

1% +39

2. % dt+39

3.9 1+ 3

4, % Y+ 3

Question Number : 183 Question Id : 7532297465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore Ta & gd Ue Ud STR UG GIHI WU 81d 82
Options :

1.¥ g8

2. % 3G

3. % TG

4. % Jgsilfe

Question Number : 183 Question Id : 7532297465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore Ta & Ud UE Ud SR UG GIHI U 8Id 62
Options :

1. ¥ Gg

2. % 3y

3. % TG

4. % qgsiig



Question Number : 184 Question Id : 7532297466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR BT et A fUIE 1 82
Options :

R CEE R

2. % I AR gE

3. % T b JAH I

4. A% & 9O g9

Question Number : 184 Question Id : 7532297466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TISHE P U5! GHY AU R 52
Options :

1. % Ig 1Y

2. % g AR E

3. % T9 &b JAH 9%

4. ¢ 9% b JUHF g9

Question Number : 185 Question Id : 7532297467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR g1 ¢ § o & fo gl amniies Xreg o1 g
Options :

1. % gRYAq

2. ¥ TRNYA

3. % YAg¥

4. % YR



Question Number : 185 Question Id : 7532297467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR g1 4 & o & fog gl arniies Weg o1 g
Options :

1. # gRYAq

2. ¢ TRNYA

3. % Y%

4. % YR

Question Number : 186 Question Id : 7532297468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BTY-IR ARAT HeToR BT el 31 w82
Options :

1. % TRA I IO g

2. % $B U T gl

3. % G GRS

4. ¥ BRI BT

Question Number : 186 Question Id : 7532297468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BTY-IR ARAT TETaR &1 ¥t o1 82

Options :

1. % TR DI IR G
2. % $B U T
3. % G RIS
4.« DI HAT

Question Number : 187 Question Id : 7532297469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g & ggd ¢ arar 31 & e Iuged deifed d1H I g2
Options :

1. % QN QI Srfedr IR

2. % g Yool § it gl

3. ¢ GIA-HId § IRa<

4. % G de IR A3

Question Number : 187 Question Id : 7532297469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g H g@d ¢ arar 3 & oy Iugad didifad &iF I 82
Options :

1. % N TR NI IR

2. % g geal d iff gaa

3. ¥ GId-HId § TIRT<

4. % T IS TMTAIS

Question Number : 188 Question Id : 7532297470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied o @ & 9 fadwen ‘g@ &1 qafgard 981 82
Options :

1. ® dad

2. ¥ Had

3. % 3[4

4. % g3

Question Number : 188 Question Id : 7532297470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafied o @ & 9 fadwen ‘@ &1 qafgard 981 82
Options :

1. ® dad

2. ¥ Had

3. % 3[4

4. % g3

Question Number : 189 Question Id : 7532297471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ofr &1 I g B A2
Options :

1. ¢ SY

2. % Tigf

3. % gfaq

4. % qrefie

Question Number : 189 Question Id : 7532297471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fkT 1 faelH g B A1 62
Options :

1. ¢ §¢7

2. % g

3. % gfad

4, % rei|

Question Number : 190 Question Id : 7532297472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fufefad & @ &9 91 fawedy ‘wa &1 31 T8t 82
Options :

1. % Sarfeq

2. % 39 gl feA

3.¥59

4. % TRA

Question Number : 190 Question Id : 7532297472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad & 4 ®F 91 fadwed ‘e &7 o a1 82

Options :

Question Number : 191 Question Id : 7532297473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A g B 3 H 1R o e & uged <l &1 Jat o 1 82
Options :

1. % fg

2. % QT

3. % AR

4. ¥ Mg

Question Number : 191 Question Id : 7532297473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AN T DI 3 T 1R e are § ugad <sidh &1 9t ofd |1 g2



Options :
1. % g
2. % g
3. % ¥
4. ¥ 1lQ

Question Number : 192 Question Id : 7532297474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faavur - faqui Weg g &1 gat o1 FAufoiad fawen @ e g2
Options :

1. ® {EIH - gdid

2. ¢ qdid - TTgH

3. % gdid - 3THYD

4. % R -6

Question Number : 192 Question Id : 7532297474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faavur - faqul reg g o1 w8 ord fafoiad fawedl A J s |e
Options :

1. % Qg - qdid

2. ¢ gdid - e

3. % gdid - MHYH

4. % g3 - TTeH

Question Number : 193 Question Id : 7532297475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad § ¥ o9 97 g T@H 82

Options :




1. ¢ fag
2. % foorelt
3. ® dlqd
4. % §TY

Question Number : 193 Question Id : 7532297475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad § ¥ o9 97 g T@H 82

Options :

Question Number : 194 Question Id : 7532297476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRad o 9 I 91 Weg dad &7
Options :

1. % et

2. % U

3. ¥ U

4. % dfegd

Question Number : 194 Question Id : 7532297476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad & ¥ &9 97 2o ded 82

Options :

1. ® geft




2. % Ux
3. ¢ ORR
4. % Hfaq

Question Number : 195 Question Id : 7532297477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR T TS T XMe5; 572
Options :

1. ® SO

Question Number : 195 Question Id : 7532297477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR fard TS T TMeg; 87

Options :

1. % SOt

2.« il

3. % 3fUSit

4. % =4t

Sub-Section Number : 2

Sub-Section Id : 753229463
Question Shuffling Allowed : Yes

Question Id : 7532297478 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

T ST G Qfoheh TERUT IR311 4 e Yax 1 YHHAR Bicit & 39 T Al AT SHclifohds 3R fGa &1 ufad & ST Yoile THe ol



U1 98 g0 GHH SR JUET 3R SHdgal &I UISH Sl 5| 3T B f[ASTeHT YRR ARI DI Gl 81 Sawi13fl &1 gul $ud g1 gl
g1 98 Ufas Sa-Hfex &1 SIfISER <ot +ft &7 gt § SR 3UA T8 & AfeH B &1 afg! 11 59 707 & SR 3 JHT § 3o I M
3R 31qd yaT e, 579 U RIaR ¥ d g Ffeat & i SIH ) 9 39 It gt A H 318 3R 3R H, 3191 sHAfig 31 HHaR
»&q“lorge BT TST| S ST BT YA - ardl Hi UT: It Teg H U< I8d § b T offfcl 9l a1 & a1 Yo ol 8l Idb! g ore! SI]id Wy
a3l

SWRIGd T & 3MYR R HAfRad usi & IR g

Sub questions

Question Number : 196 Question Id : 7532297479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
et H Sfeafad i gt srawiTell I o1 SRR 82
Options :

1. % JU&H 3R g

2. % JUET 3R TR

3. ¥ TR 3R JU&f

4. % 3G 3R T

Question Number : 197 Question Id : 7532297480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘3ET P! (TSI GRI [T ddhd 82
Options :

1. ® TEpid

2. ® RO

3. % Y

4. ¥ Y

Question Number : 198 Question Id : 7532297481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & AR A oy TR Pt axgsit & Ul 3R HId I HR 33T /2



Options :

1. ¥ AMHYD
2. % 3HHYD
3. % QYA

4. % faxre

Question Number : 199 Question Id : 7532297482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & SR &l B g& M & oW B STRER 72
Options :

1. % WY et

2. ¥ GHIS B ARG AT H URad-

3. % gl o Tqur

4. % Al & qly

Question Number : 200 Question Id : 7532297483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRITRT & U 3o T 37 B-
Options :

1. % 3ffep

2. % HH

3. % 3Ylg

4. ¥ Fdd

Question Id : 7532297478 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

T T G Afoheh TTERUT I3 O 3Mfereh Yar a1 YHHR Bl & I T Al A el 3R fGa o ufda § SaTe Joie He- o
¢ 1 98 J50 GHSN SR JUET 3R SAea-l &1 HISH a-d! ¢ | €T B [ASIaT I YR 7RI DI g1 51 SawT3fl &1 guf $yd 81 bl
g1 98 Ufas Ca-Hfex &1 SIfISER <ot +ft &7 gt § SR 31UA T8 & AfeH B &1 afg! 11 5 707 & SR 3 JHT § 3o I




3R 31gd ST Fireh, 59 UHRIaR ¥ d g1 Ffed & I S o) dd S I o) A1 T 31317 3R 31 i, 391 SFARig SR e
%Olnlc%li BT UST| I ST BT YA HR- arat Ui Ur: I g & IS Xgd & [ I8 S Al a1 ¢ a1 gD a1 61 gb| § [oreh! Siijfel v
ARl

IWRIT T & YR W Fafafad gl & Sw fvm|

Sub questions

Question Number : 196 Question Id : 7532297479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR H Sfearad il g srawTell I T SRR 52
Options :

1. % JU&T 3R Sdga

2. % JU&T 3R 3FATER

3. ¥ TR 3R JU&f

4. % 3G 3R fagaH

Question Number : 197 Question Id : 7532297480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“3EF P! faeTa T gRI fraast T 72
Options :

1. % Gepfd

2. % IO

3. % B

4. ¥ Y

Question Number : 198 Question Id : 7532297481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TN & SIHR T g TR &) axgeil & Ufd 3MMex HTa & WR I5d18?

Options :



|. ¢ 3MHYH
2. % IFTHYH
3. % 3qHyd
4. % favre

Question Number : 199 Question Id : 7532297482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & SR &l B gE=n F fofy i SRR 82
Options :

1. % a4 el

2. ¥ GHIS BT ARG H URad-

3. % fTadi o 1o

4. % (Rl & qy

Question Number : 200 Question Id : 7532297483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR H UG 3T BT 3% B-
Options :

1. % 3fdp

2. % ®©H

3. % 3HYlg

4. ddd



